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Question Number : 1 Question Id : 92775914003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series is given, with one term missing. Choose amongst the given responses and complete the series.

7Y, UT, PO, KJ,?
Options :

1. ®* DE

2. % ED

3. % GF

4. ¥ FE

Question Number : 1 Question Id : 92775914003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& TS Rae H U UG W ¢ | 3T Y fasdment H O 99 BT aUT $Rad &l IR Bifod |

7Y, UT, PO, KJ.,?
Options :
1. % DE
2. % ED
3. % GF
4. ¥ FE

Question Number : 2 Question Id : 92775914004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark (?) in the following letter series?

ZYXWVU, YXWVUZ, ?, WVUZYX, VUZYXW
Options :

1. ¥ XWVUZY

2. % XWVUYZ

3. % XWUVZY

4. % XVWUZY

Question Number : 2 Question Id : 92775914004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAgferfad sieR 9ot 4 usarasd foe (7) o I R T 3R

ZYXWVU, YXWVUZ, 7, WVUZYX, VUZYXW
Options :

1. ¥ XWVUZY

2. % XWVUYZ

3. % XWUVZY



4. = XVWUZY

Question Number : 3 Question Id : 92775914005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

CELK,0,Q,?
Options :

1. * R

2.%8S

3. T

4. ¥ U

Question Number : 3 Question Id : 92775914005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedl & 9, 90t & g 31eR 1d S|

CELKO,Q,?
Options :

1. * R

2.% S

3. T

4. ¥ U

Question Number : 4 Question Id : 92775914006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

_ff e fg
Options :



1. % ggegeg
2. ® eeggee
3. ¥ egfefg
4. % geefge

Question Number : 4 Question Id : 92775914006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e faseat & 9, 9ot & g 31eR I BRI

_ff e fg
Options :

1. # ggegeg

2. % eeggee

3. ¥ egfefg

4. % geefge

Question Number : 5 Question Id : 92775914007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Potato : Starch :: fructose : ?
Options :

1. # Salt

2. % Milk

3. % Butter

4. ¥ Sugar

Question Number : 5 Question Id : 92775914007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fAdh e BT 9 BT T TR Wsg J I THR A&TId g o TR ORI g Ugdl Mg I T 3|

3T : T :: ool : 2
Options :

1. % JHD

2. % gy

3. % Hagq

4.« I

Question Number : 6 Question Id : 92775914008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

JNPR : OSUW : : HLNP : ?
Options :

1. # PTXY

2. % LMOR

3. ¥ MQSU

4. ¥ EJKP

Question Number : 6 Question Id : 92775914008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u U fadeul @ Trafed 31&RY o1 9o Bifo |
JNPR : OSUW :: HLNP : ?

Options :

1. % PTXY

2. % LMOR

3. ¥ MQSU

4. % EJKP



Question Number : 7 Question Id : 92775914009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

ROCK:CROK :: ?
Options :

1. % BALE: ELAB
2. % COLD: DOLC
3. ¥ MEAN : AEMN
4.+ CHIN : ICHN

Question Number : 7 Question Id : 92775914009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T fadeut & @ Traferd 1&RY o1 9o Bifo |
ROCK:CROK :: ?

Options :

1. #* BALE: ELAB

2. % COLD: DOLC

3. ¥ MEAN : AEMN

4. CHIN : ICHN

Question Number : 8 Question Id : 92775914010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

COMPUTER: FQPRXVHT:: LANGUAGE:?
Options :
1. # OXPIXDIG



2. % OCQICYIG
3. ¢ OCQIXCIG
4. % OCQIXCIG

Question Number : 8 Question Id : 92775914010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T foeheul H Q et 31&RT 1 T BT |
COMPUTER: FQPRXVHT:: LANGUAGE:?
Options :

1. ¥ OXPIXDIG

2. % OCQICYIG

3. ¥ OCQIXCJG

4. % OCQIXCIG

Question Number : 9 Question Id : 92775914011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'Profit' is called 'Loss’, ‘Loss' is called ‘Percentage', 'Percentage' is called 'cost price' and 'cost price' is called 'discount', then profit or loss
calculate on ?

Options :

1. # Loss

2. ® Percentage
3. % discount
4. #® Profit

Question Number : 9 Question Id : 92775914011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%a%maﬁaﬁ B B UfA=Ter, TR &1 'Hd Jea' 3R ‘Hd ' $I 'Be' Hal 9Idl g, al FHEfeRad & I a1y a1 81 fog R fHaprett
?




Options :
1. % g1
2. % YfcRrd
3. ¥ QcC
4, % Y

Question Number : 10 Question Id : 92775914012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if the value of ‘INVADER’ =42 and ‘SECURE’ = 30, then what is the value of word ‘SITUATION’?
Options :

1. * 81

2. %90

3. % 63

4.4 72

Question Number : 10 Question Id : 92775914012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAf3d g U H, If INVADER' &1 A 42 3R 'SECURE’ &1 M 30 8, A1 FEffad & ¥ ‘SITUATION’ RTeg &1 I 1 gHTI?
Options :

1. = 81

2. % 90

3. % 63

4.¥% 72

Question Number : 11 Question Id : 92775914013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, "PEN" is written as "1120", then how will "BAT" be written in that code language?
Options :

1. ¥ 40



2. % 41
3. % 42
4. % 39

Question Number : 11 Question Id : 92775914013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Ff3d T U &, "PEN" & "1120" T ST &, O 39 Foe UINT H "BAT" B fhd UHR forar S
Options :

1. ¥ 40

2. % 4]

3.% 42

4. % 39

Question Number : 12 Question Id : 92775914014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, POSTER is written as OP1SF9, COWARD is written as BP5ZS4. How is RIBBON written in that code?
Options :

1. # QJ2AP6

2. % QH2AP4

3. % QJ3AP4

4. ¥ QI2AP5

Question Number : 12 Question Id : 92775914014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Af3d ®Is &, POSTER &1 OP1SF9 oAl ST 8, COWARD 1 BP5ZS4 foRaT SITdT 81 39 hIg HINT H RIBBON o1 T forRaT SRR
Options :

1. % QI2AP6

2. % QH2AP4



3. #* QJ3AP4
4. % QJ2AP5

Question Number : 13 Question Id : 92775914015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘1357 means ‘we are very happy', ‘2639’ means ‘they are extremely lucky’ and ‘794” means ‘happy and lucky', then,
which digit in that code language stands for ‘and’?

Options :
1. %7
2.%9
3.¥°4
4. % 3

Question Number : 13 Question Id : 92775914015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& [fga hc HINT T, <1357 &I 31 B ‘we are very happy’, '2639' ®I[ 3 g ‘they are extremely lucky’ 3R 794 T A § ‘happy and lucky’,
oY, 9 FHe UTST H DI T 3 'and' & oW 82

Options :

1. % 7

2. %9

3.¥4

4. % 3

Question Number : 14 Question Id : 92775914016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhimanyu is son of Anil’s father’s sister. Prakash is son of Trisha,who is mother of Vikash and grandmother of Anil. Hansh is father of Neela
and grandfather of Abhimanyu. Trisha is wife of Hansh.

How is Abhimanyu related to Trisha?
Options :



1. ¥ Grandson
2. % Son

3. % Father

4. % Brother

Question Number : 14 Question Id : 92775914016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEY, 31 & T ) T8 T B | U=, TN BT Y & S (& b o1 17 B &R oifet ot aret/ At €1 &, e o foran € iR
g o GIal/ A1 | IO, §9 &1 Uell o

A=Y, T & ford ThR TSiferd g2
Options :
1. ¢ Trdr
2. % OF
3. % fUar
4. % Y

Question Number : 15 Question Id : 92775914017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five Athletes — Bevan, Bailley, Johnson, Jackson and Robert participated in a 100 m race and finished the race at five different timings, not
necessarily in the same order. Exactly two athletes finished the race between Beven and Bailley and two athletes finished the race between
Jackson and Johnson.

Who is the third athlete to finish the race?
Options :

1. # Bailley

2. # Johnson

3. % Robert

4. % Bevan



Question Number : 15 Question Id : 92775914017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O TYTIe - 9a, Seit, S, Siaa- 3R IAde 7 100 Hie i arg T YT foram iR Ui SIehT-3eT THT IR I8 T3 Bt SR gl b 34l
% T | da 3R et & o9 3l Tyeitel A gre I8 &1 SR SR 3R Sii-a- o o d &l Tyeiel 7 gre g &1

S T3 R ATl FIRRT TUHe i 82
Options :

1. % qat

2. % SH9A

3. ¢ e

4. % §aq

Question Number : 16 Question Id : 92775914018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of students, A is 7" from left and B is 14™ from right and the number of students sitting between them is one-fourth of the total numbers
of students. Find the total number of students in the row.

Options :
1. ¥ 28
2. %20
3. % 16
4. % 50

Question Number : 16 Question Id : 92775914018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DN o N

B! 1 U Ufad T A &1 I a8 781 Ud B &1 RIT &8 H 1481 & 3R 39 &1 & Sid 9o+ ardl S &1 W $of S B AT o1 U
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Options :

1. v 28

2. % 20




3. % 16
4. % 50

Question Number : 17 Question Id : 92775914019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man reached the station at 5:30 p.m. and asked the enquiry clerk regarding the availability of trains, for Warangal. The clerk replied that trains
for Warangal are scheduled every 100 minutes and the previous one had left 24 minutes ago. When is the next train for Warangal scheduled to
leave?

Options :

1. * 6:36 p.m.
2. % 6:44 p.m.
3. % 6:56 p.m.
4. % 6:46 p.m.

Question Number : 17 Question Id : 92775914019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MTEHT R 5:30 T TIH TR U 3R &b J IR & (o 1 Bt STASI & TR B I YBAIS B1 | I A gl b IR & forg oo
A% 100 e W g MR el 27 24 e uga fewal g1 aRITd & forg SiTeft ¢ S a1 gif

Options :

1. # 6:36 AWI©
2. % 6:44 AR5
3. % 6:56 3U[©
4. ¥ 6:46 WMo

Question Number : 18 Question Id : 92775914020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among five persons Sunny, Swati, Somya, Surbhi and Sapna, Swati was elder to Somya but younger to Sunny. Surbhi was elder to Sunny, who
was elder to Sapna, who was not the youngest. Who among them was the youngest?

Options :



1. # Surbhi
2. # Sunny
3. #® Swati
4. ¥ Somya

Question Number : 18 Question Id : 92775914020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg safaaa -1, Tafa, I, QR iR qu=1 & warfa, S @ 931 o afer I @ Biet At RIS oSt o S I § a1 o1, S e
B Tl i ITH A B TIY BeT U

Options :

1. % IR

2. % At

3. % Wl

4.

Question Number : 19 Question Id : 92775914021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement:
1. All philosophers are men.
2. Socrates was a philosopher.

Conclusion:
I. Socrates was a man.
II. Women cannot become philosophers.

Options :

1. ¥ Only I is valid

2. % Only II is valid

3. # Both are not valid



4. ¥ Both are valid

Question Number : 19 Question Id : 92775914021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy T &) Y fad T § o 3 3 s 1 3R 11 FepTal TR €1 3Ueh! 7111 2 fob S U I § T1R 98 JrH=d: J1d et 3 fir
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Options :

|. % Haq 1 T8l g

2. % Had 11 Tg 8

3. % G g8l el §

4.« 3HITET 8

Question Number : 20 Question Id : 92775914022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if

it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement:

All kites are sky
All sky is blue
No sky is white

Conclusion:



(I) No kite is white
(IT) No blue is white

Options :

1. ¥ If only conclusion I follows

2. % If only conclusion II follows

3. % Ifeither conclusion I or II follows

4. % If both conclusions follow

Question Number : 20 Question Id : 92775914022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & 9 pY= f3 T 8 e om € s 1 3R 11 bt T €1 3t A1 § b Sl = 9T g 9T I8 IH=Id: J1d ael 3 fire
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|

HhY:
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feem:
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(IT) DTS el Y& Tal g |

Options :

1. ¢ ¢ had s [ 3R HR1 8
2. % Tfe Had fIswY 11 TRV BT §
3. % gie a1 e Fsme 1 3T 11 SRR Rl §
4. % g Q! Fpy SITRUI R §

General Ability2

Group Number : 2
Group Id : 927759544



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 927759580
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759719
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775914023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are two statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given

statements.
Statements:
Some hands are legs.

All legs are eyes.

Conclusions:



I. Some hands are eyes.
II. Some eyes are legs.

Options :

1. ® If only conclusion I follows

2. % If only conclusion II follows

3. # If either conclusion I or conclusion II follows

4. % If both conclusions I and conclusion II follow

Question Number : 21 Question Id : 92775914023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & HY o T B e 3 ) s 1 3R 11 bt T § 1 3! A1 § b Sl = I g 9T 98 IrH=ad: J1d a3 fire
%?ﬂﬁ@ﬁﬁl 3! Ui H31 § b feu e s & § S-are -3 Rfyd Tu 3 U gR1 98! ReTe o 9&dr 8/4%d g, i dis
|

DHY: aT%

PO YW
T4 TR 317 &
fAsp:

1. $S g1 3G 5|

II.%&IT@%%‘I

Options :

1. % i Bad Fepy | SR BT

2. % i Had (5HY 11 TR0 BT &

3. % gie ra Fpd 1 37 e 11 R0 Hvdl §
4.« & F1hY 1 SR e 11 ST SFIERUI Hvd §

Question Number : 22 Question Id : 92775914024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, below are three statements followed by two conclusions numbered I and II. You have to consider the statements to be true even if
it seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given



statements.

Statements:

Some areas are perimeters.
Some perimeters are sectors.
Some sectors are arcs.

Conclusions:
I. Some areas are sectors.
II. Some perimeter are arcs.

Options :

1. % If only I follows

2. % If only II follows

3. # If either I or II follows
4. ¥ If neither I nor II follows

Question Number : 22 Question Id : 92775914024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & 9 pY= f3 T 8 e om € sy 1 3R 11 bt T € 1 3! A1 § fob Sl = 9T g 9T I8 IH=ad: J1d aedl 3 fire
%‘cﬂﬁ%ﬁ?fﬁl 3! Ui S § b feu e s & § S-are -3 Rfyd Tu 3 U gR1 98! ReTan o 9&dr 8/8%d g, i dis
|

HY:

FS &Thd IR §
FS IR Jaex B
FS e Ad 7

fsep;

$T AT a3

5o IR 31 B

Options :

1. % Tf PHad 1 TRV BT &

2. % TS Bael 11 STER0T T §

3. % i IT A 13T 11 SIXROT Rl §




4.+ TR AT 1 3R A8 11 3RV HaT §

Question Number : 23 Question Id : 92775914025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given
statement.

Statement: St. Joseph's is the strictest school in the city. Despite this, the school reports an abnormally large number of children arrested for small
crimes. The number of juvenile delinquents reported by other schools in the city is insignificant, even though students across all schools come
from similar family backgrounds.

Conclusion I: Strictness is not enough to discipline a child and prevent him/her from committing wrongdoings.
Conclusion II: It is possible that the too much of strictness is counter-productive when it comes to disciplining children.

Options :

1. # Only conclusion I is correct

2. % Only conclusion II is correct

3. % Both conclusions I and II are correct

4. % Neither conclusion I nor II is correct

Question Number : 23 Question Id : 92775914025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad A=py [ 81§

2. % el FIspY 11 T8 &




3. ¢ sy [ SR sy 1 g O
4. % F 1 s 1 78 ey 11 T8t @

Question Number : 24 Question Id : 92775914026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the missing number from the given responses.

9,21,7,93,189
Options :

1. % 39

2.9 45

3. % 30

4, % 48

Question Number : 24 Question Id : 92775914026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fas el O 9 qud TRe &1 99 |

9,21,7,93,189
Options :

1. % 39

2.9 45

3. % 30

4. % 48

Question Number : 25 Question Id : 92775914027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of three numbers are given. The given numbers are related to each other by a logic /rule /relation. Select the
one which follows the same logic /rule/relation from the given alternatives.



(9, 36, 16)
Options :
1. % (5, 40, 49)
2. % (6, 80, 25)
3. ¥ (8, 40, 25)
4. % (7,65,81)

Question Number : 25 Question Id : 92775914027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ve H, <9 Semsit &1 ue wiig foar mar g | fau 11U 3ie e /Mo e gR1 Us geR 4 Jwaied ¢ | fou 7 fawen & 9 3t
e /(IO T &1 3FIERUT B aTdl &I TG BT |

(9, 36, 16)
Options :
1. % (5, 40, 49)
2. % (6, 80, 25)
3. ¥ (8, 40, 25)
4. % (7,65,81)

Question Number : 26 Question Id : 92775914028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Insert mathematical operations in place of stars (*) to satisfy the given equation.

T*T*2*1=12
Options :
l. % x-=+
2.% + %
3. % x -+
4, % + x -



Question Number : 26 Question Id : 92775914028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHRU Dl TGP B b fI TR (+) & R TR 0 Uellen! o1 fafgd sifere|

T*FTE2*¥1=12
Options :
l. % x-+
2.9 +-x
3. % x -+
4. % +x-

Question Number : 27 Question Id : 92775914029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If '+ stands for 'division', '-' stands for 'equal to', 'x' stands for 'addition’, '+' stands for 'greater than', '=' stands for 'less than', ™' stands for
'multiplication’, and '<' stands for 'subtraction', then which of the following alternatives in correct?

Options :

[.% 5+2x1=3+4>1
2. 5>2x1-3>4<1
3.% 5x2<1-3<4x1
4. % 5<2x1+3>4x1

Question Number : 27 Question Id : 92775914029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g '+ UNT BT TP @, - SRISR BT TP o, 'x' SIS BT TP o, '+ T DI TP &, '=' BIC BT Ul 5, > 0N B Ul g qUT '<' I Pl
it &, al 9 fased! O 9§ H1H-91 981 87

Options :

.%¥5+2x1=3+4>1

2.9 5>2x1-3>4<]

3.% 5x2<1-3<4x1




4, % 5<2x1+3>4x1

Question Number : 28 Question Id : 92775914030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the three words given below.

Teacher, Lawyer, Man

Options :

AE

D
L
3. % @)

Question Number : 28 Question Id : 92775914030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & Q - A spha faT 7 o wreal & o Jod 3w At 1 i 5|



e/, Ibid, 3meHt

Options :

E

D
2. % O
3. % @)

Question Number : 29 Question Id : 92775914031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures represents the best relationship among the four words given below.

Rhombus, Square, Quadrilateral, Polygon.

Options :




2. %

&
©

4.9

Question Number : 29 Question Id : 92775914031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffad 3§ @ - @ el 3T 70 IR weal & ffa Jed 3 Gy 1 exifdt B
FHAGHS, T, TG, TgYS

Options :

2. %




©

4. ¢

Question Number : 30 Question Id : 92775914032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagrams indicates the best relation among snake, monkey and mammals?
Options :

BOL
@

©

Question Number : 30 Question Id : 92775914032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o ot & @ H1-a o iy, ser 3R WUl § 9y T 1 a2iidr g2

Options :

BOL
@

2.
3. % .
4 % .:

Question Number : 31 Question Id : 92775914033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the figure carefully and answer the given question.

Bunglow Car

A
0

Job



People who have job but neither have car nor bungalow is represented by letter(s)
Options :

1. % aandd

2. % only f

3.% fand g

4. ¥ only g

Question Number : 31 Question Id : 92775914033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R HT ATGAD 37T Diforg 3R T TT Uy HT IR S|

AVA
Al

5 oyl & U Aedl B, AfPT S76 U T A R g 3R 7 8 §7d &, T 31eR/31eR] FRERIBIEIGIE
Options :

1. ® a\’rﬁTd

2. % Had f

3. % fG‘?Rg

4.9 Had g

Question Number : 32 Question Id : 92775914034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, the circle represents Brides, the square represents beautiful and the triangle represents employed. Study the figure
carefully and answer the given question.



The letters which represent only Brides, only Beautiful and only Employed respectively are .
Options :

1. % a,bandc

2. % b,canda

3. % c,aand b

4. % c,banda

Question Number : 32 Question Id : 92775914034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiaa snepfa §, a0 geel & ouiiar 8, 97 Yol o1 SIdT § 3R S H1ikd &1 <=1iar 8| 3MTpTd BT earYdes 31T HIfong 3R
fau T Uy o1 I AT

3f&R ST HId gegH, Had Jaxdl, Had BRI DI G 6, HA: 6l
Options :

1. # a,bG‘ﬁTc
2.$3b,c3‘ﬁTa
3. ® c,ax’ﬁ?b



4.~i/c,b3ﬁ7a

Question Number : 33 Question Id : 92775914035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following figure series.

Question Figure:

$ O 3 # L
@ O $
@ ofo s|s #|#

Question Number : 33 Question Id : 92775914035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I HTHd BT 9G4 DI il aferRaa sipfa e I ol st

T A
5 9] $ # &
@ O g

@ olo  sls #|#

Options :

*
#

1.

Question Number : 34 Question Id : 92775914036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is analogous to the given set of figures.



Esﬁﬂnﬁgg .
r@ ] D1 ?

1 2 3 4
Options :

L]
L

—

0
®

L
e
N

4.

Question Number : 34 Question Id : 92775914036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadheq &1 T Pifore S faU 11T siiepfadt & e & U 7|




Options :

L]
Lk

[ —

0

L
oL
X

4. v

Question Number : 35 Question Id : 92775914037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

Question Figure:




Options :

1. # @
%]
2. % -
Re
%]
4. ¢ -

Question Number : 35 Question Id : 92775914037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7S sRae H U Ug qud ¢ | AU Y fawent Hf ¥ Ul fadmed o1 99 BT S SRadT Bl ORI B
q2eT bk

Options :



Question Number : 36 Question Id : 92775914038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you are facing North-East and move 10 m forward then turn left and move 7.5 m, then you are:
Options :

1. % 13 m away from your initial position

2. % 11 m away from your initial position

3. % 12 m away from your initial position

4. ¥ 12.5 m away from your initial position

Question Number : 36 Question Id : 92775914038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g 31U ITR-Yd &1 3R g PP W & 3R 10 HicR 31 &1 3R Iad 7, {hr 914 Sd § 3R 7.5 HIex Iad &, dl U &:

Options :

1. % 3O RS RUfT T 3 HR P QI WR
2. % IO URMYS U 11 FTR DI WR
3. % 30 RIS R T 12 fIR DI W
4. ¢ U URIYS UM T 12.5 AR B Q- WR

Question Number : 37 Question Id : 92775914039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the following question figure?

Question Figure:

Options :

G
L &S
B



4. ¢

Question Number : 37 Question Id : 92775914039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR P, UY P & U &l I BN 2
qad HIFA:

&

Options :
| % a
S
B
B



Question Number : 38 Question Id : 92775914040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two positions of a dice are given below. If 6 is at the bottom which number is on the top?

Options :
1. %3
2.% 2
3.1
4. % 4

Question Number : 38 Question Id : 92775914040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 v U i < Ryl < i ®1 afe i gt e R 6 8, o I R - S= g

Options :
1. %3
2. %2
3.¢ 1
4. % 4

Question Number : 39 Question Id : 92775914041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correct option to complete the following pattern.

Question Figure:
?
-]
N
(s
Options :

1%
2. ®

Pt
3.

NEE




Question Number : 39 Question Id : 92775914041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead U & -1 %A & e gt faded &1 9a+ ifor|

TR BIFEEI':

Options :

=

1. ®




Question Number : 40 Question Id : 92775914042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three views of the same cube are given. All the faces of the cube are numbered from 1 to 6. Select one figure which will result when the cube is
unfolded.

Question Figure:
3 3 3 'D
S
2 |g 1 3 |:I s
Options :
N
|

Moo=

v LE




Question Number : 40 Question Id : 92775914042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U € U ) A Rt & g 81 U & et erehT IR 1 R 6 e € T &1 At U el gT o U  @ie R g 3

50 |GB |8 | P

Options :

A |

==

Lv LE
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Question Number : 41 Question Id : 92775914043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places is the Raniji ki baori?
Options :

1. # Kota

2. % Bundi

3. % Jhalawar

4. % Tonk

Question Number : 41 Question Id : 92775914043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS ) Igs! FafRd I P mm w32
Options :

1. % ®Icl

2. ¢ qdi

3. % LA

4. % i

Question Number : 42 Question Id : 92775914044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Kaushiki Chakraborty associated with?
Options :

1. # Sitar

2. % Sarod

3. # Tabla

4. ¥ Vocal

Question Number : 42 Question Id : 92775914044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

DD Tehad! HERId & J [ T et g2
Options :

1. ® fRdr

2. % WIg

3. % dddll

4, T4

Question Number : 43 Question Id : 92775914045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rulers had constructed the large reservoir called Hauz-i-Sultani?
Options :

1. * Qutb-ud-din-Aibak

2. # Ala-ud-din-Khilji

3. ¢ Iltutmish

4. % Balban

Question Number : 43 Question Id : 92775914045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford Ime A BI-U-Yeam e a7 STATRi &1 fAfor fasar ut
Options :

1. ® $gd-3a-¢IH-UadH

2. % 3dl-3G-dH-faerof

3. ¢ Zoqdas

4. % ddd-

Question Number : 44 Question Id : 92775914046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following Indian states is the Bathukamma festival celebrated?
Options :

1. ¥ Telangana

2. # Tamil Nadu

3. % Karnataka

4. % Kerala

Question Number : 44 Question Id : 92775914046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 frg YR 50 § G AR AT ST 82
Options :

1. ¢ deiTET

2. % qffrd g

3. % PAlCH

4. % I

Question Number : 45 Question Id : 92775914047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places is the Tarangamel dance popular?
Options :

1. # Gujarat

2. ¥ Goa

3. % Punjab

4. % Uttar Pradesh

Question Number : 45 Question Id : 92775914047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R T Fafiied & 9 fog = 3 dieita g2

Options :



1. % ?!GRIH
2. Tl
3. % o9

4. % IWUSY

Question Number : 46 Question Id : 92775914048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which year was the Unified Payments Interface (UPI) launched by National Payments Corporation of India (NPCI)?
Options :

1. % 2014

2. % 2015

3. ¥ 2016

4. % 2017

Question Number : 46 Question Id : 92775914048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MW THCH HIRURRM T ST (NPCI) GRT IAHIRE UHCH $exWhy (UPI) fohd a8 ¥ YR fohdm 7T T
Options :

1. ® 2014

2. % 2015

3. ¥ 2016

4. % 2017

Question Number : 47 Question Id : 92775914049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following actions cannot be done by an Aadhaar Enabled Payment System (AEPS)?
Options :

1. % Cash Withdrawal



2. % Cash Deposit
3. % Balance Enquiry
4. ¥ Buying on credit

Question Number : 47 Question Id : 92775914049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3MYR T LI Jorel (Teies) gRI Fafefad o & &9 a1 o e} fba o ebar 82
Options :

1. # qehq Mol

2. % ddbq ofHT

3. % QRN IBATS

4, ¢ P& W T

Question Number : 48 Question Id : 92775914050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Economic Survey 2020, which of the following has increased access of the poorest to pre-natal and
post-natal care as well as institutional deliveries?

Options :

1. ¥ NHM

2. % Ayushman Bharat
3. ¥ PM-JAY

4. ¥ PM-CARES Fund

Question Number : 48 Question Id : 92775914050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ%ﬂﬁ&ﬂzozo%&‘:ﬁﬁﬁyﬁf@ﬁﬁ@r P dgd Ud 4 3R THaRR G@HTE JUT SR U4 a TRIa) i Ugd H &1 9ia 88

Options :
1. ¥ T4 U UH.



2. % IMHH YR
3. % QI UA.-S.UdTs.
4. % Tt TH.-HTd Py

Question Number : 49 Question Id : 92775914051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2021, what is the ceiling of net borrowing for the states for the year 2021-2022?
Options :

1. % 3% of GSDP

2. % 5% of GSDP

3. % 6% of GSDP

4. ¥ 4% of GSDP

Question Number : 49 Question Id : 92775914051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAIT FOIC 2021 P SR Il P 1T A9A IYR &1 WA FaH AT 2021 - 2022 & AW 1 82
Options :

1. % Fhdl el IR IAIG b 3 Ufa=Id

2. % Fhel IS W MG & 5 UleT=Id

3. % Ipd ol IR IdTG o 6 U=

4. ¥ qHA IS IR MG b 4 Ufa=rd

Question Number : 50 Question Id : 92775914052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following circumstances high Fiscal deficit could be good for an economy?
Options :

1. ¥ When external grants increases

2. % When mode of interest payment decreases



3. ¥ If the spending on productive assests increases
4. % When GST collection decreases

Question Number : 50 Question Id : 92775914052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafrea 4 3 fora aRfRufa & S Iore i arer siicqawi & oy 3rs1 81 Il 52
Options :

1. % §d 918 3faH 9¢1d §

2. % Tq TS YIAH & diob &Y g1 olTd &

3. ¢ §d IdTed UREufadl W @ e 81

4. % §q ollTgct 998 4 oAl gl

Question Number : 51 Question Id : 92775914053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we look at the glazed portion of a CD, we see multiple colours. What is this phenomenon called?
Options :

1. # Reflection of light

2. ® Refraction of light

3. % Dispersion of light

4. ® Total internal reflection of light

Question Number : 51 Question Id : 92775914053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o9 B T UTe! & Ul g3 HIT Bl ¢l d 6, Al 8H $s W1 ¢Wd & | 39 9T I 1 Bl oIl 62
Options :

1. % TehT &1 URIdH

2. ® BRI BT 3ac

3. ¢ U1 o1 faaaur




4. % YD BT YUT HTARD TR

Question Number : 52 Question Id : 92775914054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chemicals are present in heads of safety matches?
Options :

1. # Red phosphorus and white phosphorus

2. % Antimony trisulphide and potassium chlorate

3. # Potassium chloride and phosphorus trisulphate

4. ® Antimony chlorate and red phosphorus

Question Number : 52 Question Id : 92775914054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed o @ 39 91 WrE FRiue 71 & Rk § SufRd gid 82
Options :

1. % AT BRBRY 3R 40 BREGRY

2. ¢ TEHAT TIEaehs s 3R TR Fdke

3. % TR FARSS SR BRWIRY T8 dehe

4. % TET FARE 3R AT BIEhIRY

Question Number : 53 Question Id : 92775914055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit of calorific value of a fuel?
Options :

1. ¥ kilojoule per kg

2. % joule-kg

3. % kilojoule

4. # kg per joule



Question Number : 53 Question Id : 92775914055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$YT B BRI A DI IBTs R 87
Options :

1. ¢ foretiold ufa ol

2. % Jcl-doll

3. % fdhaa

4. % il gfd S

Question Number : 54 Question Id : 92775914056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following category of micro-organisms do Leishmania fall under that causes kala-azar?
Options :

1. * Bacteria

2. % Virus

3. ¥ Protozoa

4. #* Fungus

Question Number : 54 Question Id : 92775914056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIATR Y HRb AT ford 9oft & ger-siiat & 31 g2

Options :



Question Number : 55 Question Id : 92775914057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the approx length of the Ganga River ?
Options :

1. # 1,450 km

2.9 2525 km

3. % 3,560 km

4, % 8,848 km

Question Number : 55 Question Id : 92775914057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG BT SFHIG TS fBa 82
Options :

1. % 1,450 fort

2. ¢ 2525 Tt

3. % 3,560 fopeit

4. % g 848 fopeil

Question Number : 56 Question Id : 92775914058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most populous country in the world?
Options :

1. # India

2. % China

3. ¥ Bangladesh

4. ¥ Japan

Question Number : 56 Question Id : 92775914058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFoffed & 9 o9 a1 fay o 9a9 i S arel &2 82
Options :

1. % HRd

2. ¢ I

3. % giAe

4. % SqTq

Question Number : 57 Question Id : 92775914059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the eastern coast has less number of ports and harbours?

Options :

1. #® The eastern coast suffers from poor economic growth

2. ¥ Because of its emergent nature and extended continental shelf, it’s difficult to build good ports and harbours
3. # The eastern coast is filled with deep gorges which makes it difficult to build ports and harbours

4. ® The western coast has extremely low population density so building ports and harbours will not be benefiting

Question Number : 57 Question Id : 92775914059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gdf e & Urardl iR See! &1 Hel HH i 82

Options :

1. % Jdf de WRe 3 fap 4 I §

2. ¢ 3T TR Tepfar 3R fIeaiia AeTeitiar Siet e & BRu, 3/ Tieiea 3R seme! ol FAfor 1 dfo- 8

3. % gdf e et wfedt T ufvyuf 8, R a8k sevime &1 fufur &= 81 Srar §

4. % Uiy qe § SRS 1 U 9gd $HH ¢, 9IS Urdisdl 3R Same! o FHufor & 39 &= & siffer ufe=a &1 ary =gt g

Question Number : 58 Question Id : 92775914060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following type of forests are found in the western slope of the Western Ghats, hills of the northeastern region and the Andaman
Nicobar Islands?

Options :

1. ¥ Tropical Evergreen and Semi Evergreen forests
2. % Montane forests

3. % Tropical thorn forests

4. # Tropical deciduous forests

Question Number : 58 Question Id : 92775914060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy g1e & ufdft gom, gakR &9 &1 ugifsal $iR sfei MaaR giu 9ig # fafeied & 9 oy TR & 9 Ui rd 82
Options :

1. ¥ IUhIeSHd AeTaER 3R 34 HeTeBR T

2. % Gddrg o

3. % JUBHICTE HicqR I

4. % JUBCHLy guiureh g

Question Number : 59 Question Id : 92775914061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dynasty's rulers were known as the 'Lords of the dakshinpatha'?
Options :

1. # Guptas

2. % Mauryas

3. ¥ Satavahanas

4. % Palas

Question Number : 59 Question Id : 92775914061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaRad 7 O foog 921 & P! ol IS0y & W & 0 H ST SITdT 912




Options :
1. = I[td
2. % A
3. ¢ Ylddigd
4. % Uld

Question Number : 60 Question Id : 92775914062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had composed the Tamil epic called Manimekalai?
Options :

1. ¥ Sattanar

2. % Kovalan

3. % Ilango

4. ® Kambar

Question Number : 60 Question Id : 92775914062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiOmRg s A dfid HeThTed Bt a1 foraH @1 2
Options :

1. ¥ gddR

2. % DI

3. % g

4. % HER

General Awareness2

Group Number : 4
Group Id : 927759546

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 927759582
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759721
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775914063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Chahamana ruler Prithviraj III defeat Sultan Muhammad Ghori?
Options :

1. ¥ 1191 AD

2. % 1192 AD

3. % 1193 AD

4. % 1194 AD

Question Number : 61 Question Id : 92775914063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fort oy & A WS RIS g = oo™ GewIG XTI R U1
Options :

1. ¢ 1191 39a1

2. % 1192 394

3. % 1193 394!

4. % 1194 3gat

Question Number : 62 Question Id : 92775914064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Arms Act passed by the British, disallowing Indians from possessing arms?
Options :

1. % 1877

2.9 1878

3. % 1879

4. % 1880

Question Number : 62 Question Id : 92775914064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg oy # fafe=r = s wae iR fora o1 forgds ST WRGHT © SRR T@H &1 iR B foran mar ur
Options :

1. % 1877

2. ¥ 1878

3. % 1879

4. % 1880

Question Number : 63 Question Id : 92775914065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who out of the following Mughal emperors was assassinated by his nobles?
Options :

1. ¥ Alamgir II

2. #% Shah Alam II

3. ¥ Ahmad Shah

4. % Bahadur Shah Zafar

Question Number : 63 Question Id : 92775914065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad & ¥ foa girel IgTe &t g1 39 SHfHSdl A &t e
Options :

1. ¢ IR fgda

2. % TM1g 3o fgedta

3. % 3{gHq NTe

4. % dglgX XTg oIthR

Question Number : 64 Question Id : 92775914066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first physician in India to create a test-tube baby?
Options :

1. % Dr. Devi Sethi

2. % Dr. Subhash Mukherjee

3. % Dr. Rajeev Ghosh

4. # Dr. Sayan Majumder

Question Number : 64 Question Id : 92775914066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- Sl S aTa YR & T fafdheass w1 82

Options :



1. % I 93t

2. ¢ SI. GUTY g@oi
3. % I el Oy

4, % ST 9O HIHER

Question Number : 65 Question Id : 92775914067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the director of NCRB (National Crime Records Bureau)?
Options :

1. # Vijay Singh

2. # Prashun Gupta

3. ¥ Ramphal Pawar

4. # Dhirendra Kumar Yadav

Question Number : 65 Question Id : 92775914067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSRS RIS SrRTy Repis &R & Mex® & 82
Options :

1. * faorg Rig

2. % DT Tl

3. ¥ [Hhd UdRR

4. % 9% AR Ulcd

Question Number : 66 Question Id : 92775914068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of IORA (Indian Ocean Rim Association) situated?
Options :

1. ¥ Ebene



2. % Abu Dhabi
3. #* Port Louis
4. % Male

Question Number : 66 Question Id : 92775914068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S AISMRT (ST 3N R THRTRH) &1 JReaTerd Fgl RUd /2
Options :

1. ¥ TaH

2. % 3q YTal

3. % O ged

4. % T

Question Number : 67 Question Id : 92775914069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dates has been declared as International Anti-Corruption Day by the United Nations?
Options :

1. ¥ 9th December

2. % 15th January

3. % 24th August

4. % 3rd April

Question Number : 67 Question Id : 92775914069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # A fobd il &1 Igad Y GRI SHRITE YFER FRIyw fead & = H 9itd fobar T g2
Options :

1. ¢ 9 fadsR

2. % 15 Sa’t




3. % 24 3T
4. % 3 30d

Question Number : 68 Question Id : 92775914070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many members belong to the group of SAARC?
Options :

1. %6

2. % 7

3.8

4. %9

Question Number : 68 Question Id : 92775914070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T (SAARC) T & fhdn G &2
Options :

1. %6

2. % 7

3.8

4. %9

Question Number : 69 Question Id : 92775914071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the Indian Science Congress held in 20207?
Options :

1. * Delhi

2. # Hyderabad

3. ¥ Bengaluru

4. ¥ Mumbai



Question Number : 69 Question Id : 92775914071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 B YRR fOI SO gl smiiford &1 118 A

Options :

1. % fdoat

Question Number : 70 Question Id : 92775914072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was India's rank in World Economic Forum's gender gap report 2020?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 111

2.140

3.145

4.152

Question Number : 70 Question Id : 92775914072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay anfife Ha &t AfY® ffe SieRTal RUIE 2020 H YRA 31 ¥H F1 A2
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :
1. 111
2. 140
3. 145
4.152

Question Number : 71 Question Id : 92775914073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the COP 26 UN Climate Change Conference being organised /was organised?
Options :

1. # Paris

2. # Brasilia

3. ¥ Glasgow

4. % Geneva

Question Number : 71 Question Id : 92775914073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

COP 26 UN ST@aTg UG- T el SHTafoTd faar o XeT g/3marford fosam T Ut
Options :

1. % Ry

2. % SIRYfeRT

3. TN

4. % forar

Question Number : 72 Question Id : 92775914074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state has bagged the top position in the composite ranking for good governance index (GGI) 2019?
Options :

1. % Maharashtra



2. % Kerala
3. # Karnataka
4. % Tamil Nadu

Question Number : 72 Question Id : 92775914074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy I = IR YEHIH (STonaiTs) 2019 & forg Ty 3o & =i =i ure foan g2
Options :

1. ® HERIY

2. % B

3. % BAICD

4. A AT

Question Number : 73 Question Id : 92775914075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of the Indian Constitution is related to the right against exploitation?
Options :

1. # Articles 18 and 19

2. % Articles 20 and 21

3. % Articles 22 and 23

4. ¥ Articles 23 and 24

Question Number : 73 Question Id : 92775914075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I YR Afqu™ & S rgwds W0 & [a9g SHR I TwEid 57
Options :

1. % 3G 18 3R 19

2. % 3TwSG 20 3R 21



3. % 3w 22 3R 23
4. 3G 23 3R 24

Question Number : 74 Question Id : 92775914076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of the Indian Constitution is related to the amendments to the Constitution?
Options :

1. * Part XIX

2. ¢ Part XX

3. ¥ Part XXI

4. % Part XXII

Question Number : 74 Question Id : 92775914076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfae™ & fafaRad Ur & 9 o1 91 yiT Sy & I 3 96 82
Options :

1. # HIT XIX

2. % HT XX

3. % YT XXI

4. % YT XXII

Question Number : 75 Question Id : 92775914077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year had M. N. Roy suggested for the formation of a Constituent Assembly?
Options :

1. % In 1932

2. % In 1933

3. ¥ In 1934



4. * In 1935

Question Number : 75 Question Id : 92775914077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH. TF. X9 A oo a8 § T Wiae™ THT & 716 o1 oI1d fear ur
Options :

1. % 1932H

2. % 1933°H

3.¢ 19347

4, % 1935

Question Number : 76 Question Id : 92775914078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Constitutional Amendment had converted Dadra and Nagar Haveli into a union territory?
Options :

1. % 10th

2. % 11th

3. % 12th

4. % 13th

Question Number : 76 Question Id : 92775914078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 ¥ fog dfgem deneq gRT el Td R gadl! &l U I niyd yewr & uRkafdd fear mare
Options :

1. 104l

2. % 1149

3. % 124

4. % 134




Question Number : 77 Question Id : 92775914079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first state to establish the Panchayati Raj system in India?
Options :

1. # Tamil Nadu

2. % Uttar Pradesh

3. ® Maharashtra

4. ¥ Rajasthan

Question Number : 77 Question Id : 92775914079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H TATT 7ol AT R B a7 Ugdl T DI 4T AT?
Options :

1. % diee Arg

2. % JW UK

3. % HeRTY

N G USEIE

Question Number : 78 Question Id : 92775914080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sports is Thomas Mueller related to?
Options :

1. ¥ Football

2. # Hockey

3. # Tennis

4. # Swimming

Question Number : 78 Question Id : 92775914080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ao ger fafaRad § ¥ foy 9a 3 defid g
Options :

1. ¢ Gedid

2. % glpt

3. % ¢

4. % ORI

Question Number : 79 Question Id : 92775914081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams has won the Indian Super League 2020-21?
Options :

1. # Bengaluru FC

2. % Mumbai City FC

3. ¥ Chennaiyin FC

4. % Kerala Blasters FC

Question Number : 79 Question Id : 92775914081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # 9 fra &9 A 2fem qur o 2020-21 Sftar g2
Options :

1. % TS TH!

2. ¢ a5 Rt Tt

3. % Tdge UHH!

4. % P SARCY THHN

Question Number : 80 Question Id : 92775914082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Where will the 2022 FIFA World Cup be held?
Options :

1. # Japan

2. % USA

3. ¥ Qatar

4. % Saudi Arab

Question Number : 80 Question Id : 92775914082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2022 BT fay HU Hgl Sfrferd fasar e
Options :
1. % G4
2. % TG oY 3HRBT
3. ¥ A}
4. % FSHdl 3R

Arithmetic Abilityl
Group Number : 5
Group Id : 927759547
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Abilityl

Section Id : 927759583
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759722
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 92775914083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a number n is divided by 12, it gives a remainder of 7. What will be the remainder if 3n is divided by 12?
Options :

1. % 8

2.%5

3.% 7

4. %9

Question Number : 81 Question Id : 92775914083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Teh AT n B 12 F fauiford fosan oiran &, ol I8 A9 7 &l ¢ 1 Afe 3n DY 12 3 faviford fovan sime o Awtee o1 g
Options :

1. % 8

2.% 5

3.% 7

4. 99



Question Number : 82 Question Id : 92775914084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L.C.M. of two numbers is 12 time their H.C.F. The sum of H.C.F. and L.C.M. is 403. If one of the numbers is 124, then find the other.
Options :

1.¥93

2. % 76

3. % 112

4. % 64

Question Number : 82 Question Id : 92775914084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l T3t o1 T YHUAY 3 HedH THIIad® 1 12 T € ITYTH JHIad 3R HewH JHIdd® &l NTHd 403 § 131G 399 9

T TRSAT 124 § o GERT e 1 Hifor |
Options :

1. ¥ 93

2. % 76

3.% 112

4.% 64

Question Number : 83 Question Id : 92775914085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF and LCM of two numbers are 21 and 4284 respectively. If one of the numbers lies between 200 and 300, then what will be the sum of two
numbers?

Options :
1. ¥ 609
2. % 735
3. % 483
4. % 567



Question Number : 83 Question Id : 92775914085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l Tttt o1 HeTH JHIAS SR TTH JHTIaT HH: 21 3R 4284 | Ife TRaamsii § T U 200 3R 300 & s &, A GIHI T3 o
IRTH A T g2

Options :

1. ¢ 609

2. % 735

3. % 483

4. % 567

Question Number : 84 Question Id : 92775914086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify :

(2]1{12.4 % (32)5.3
(2]1{]?.4x (2]13.5
Options :

1. *= 128

2. % 64

3. % 32

4.+ 256

Question Number : 84 Question Id : 92775914086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

waﬁﬁn:

(2)1{12.4 % (32)5'3
(2)11]?.4>< (2]13.5




Options :
1. % 128
2. % 64
3. % 32
4. ¥ 256

Question Number : 85 Question Id : 92775914087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify :

1 1 1 1T
el e s
2 4 = 2 4 6

i 1
2 4

i
‘6
Options :
1. %0
2.¥ 1
3. % 46
4. % 44

Question Number : 85 Question Id : 92775914087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DITOTT

r 1 1 "I %
SEgmE s ol 3
2 4 6, 2 46 =
X2 32 (E_E) 1 .05
2 W B 2 4/ 6
Options :

1.% 0

2.¥1



3. % 46
4. % 44

Question Number : 86 Question Id : 92775914088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a 15 percent discount is given on an article, then its selling price is Rs. 2975. What will be its selling price if two successive discounts of
10 percent and 5 percent are given?

Options :

1. % Rs. 3005.5
2. % Rs.3028.4
3. ¥ Rs.2992.5
4. % Rs.3175.6

Question Number : 86 Question Id : 92775914088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o forelt I TR 15 fA=Id &1 Be <l o1 §, 3 S9! f9hd god 2975 T 1 oi1dl & | Afe 10 Ufa=id $iR 5 Ufa=id & & st ge fau
ST € ot ST 9k Jed o1 B2
Options :

1. % 3005.5 ®q
2. % 3028.4 0T
3. ¥ 2992.5 0T
4. % 3175.6 QY

Question Number : 87 Question Id : 92775914089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item was marked up by 40 percent and after that a discount of 20 percent is given on it. If cost price was Rs. 425, then what was the profit?
Options :

1. ¥ Rs. 51

2. # Rs. 67



3. #* Rs. 42
4. * Rs. 48

Question Number : 87 Question Id : 92775914089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬁmﬁmuﬁmma{mmweﬁ?mwwmzomﬁwﬁﬂétri%r«rrrraqwmmw,a‘rwu
Yr?

Options :

1.¥ 510

2. % 67 %W

3. % FW

4. % 48 F QY

Question Number : 88 Question Id : 92775914090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mean of four numbers A, B, C and D is 22.5 and their median is 25. If A > B > C > D and the value of A is 30, then find the value of D.
Options :

1.4 10

2. % 15

3. % 20

4, % 25

Question Number : 88 Question Id : 92775914090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR GBAT3M A, B, C 3R D BT HIH 22.5 § 3R IHT HIIEHT 25 81 (G A> B> C> D 3R A HTHM 30 §, A D BT A AT BT |
Options :

1.+ 10

2. % 15



3. %20
4, % 25

Question Number : 89 Question Id : 92775914091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper has 20 kg flowers costing Rs. 50 per kg and 30 kg flowers costing Rs. 40 per kg. What is the average cost price of the flowers?
Options :

1. % Rs. 43

2. ¥ Rs. 44

3. % Rs. 45

4, ® Rs. 46

Question Number : 89 Question Id : 92775914091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gHMER & U 20 framd Bat 50 ¥U3 Ul T @Td @1 $iR 30 fHaim™ Bd 40 300 Ufd feaumm and & & 1 Bal &1 Sid
AT Hed T 82

Options :

1. % 4330

2. ¥ 44 F0Y

3. % 45307

4. % 46370

Question Number : 90 Question Id : 92775914092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a fractional number 'N' is reduced by 60 percent, then in the resultant fraction, its denominator becomes 20 more than double the original
denominator, but numerator remains the same.Then, fraction is

Options :
1. # Original Numerator/20
2. ¥ Original Numerator/40



3. % Original Numerator/50
4. # Original Numerator/80

Question Number : 90 Question Id : 92775914092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T faTae TR 'N' 60 Ui=Td HH SISl €, Ot TR fd &, 391 8,40 8X & a9 20 3T 81 51T 7, Afd =1 9=
EaTy, A EE

Options :

1. % T 3{R0/20

2. ¥ T 3(R/40

3. % T 3=/50

4. % T 32/80

Question Number : 91 Question Id : 92775914093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The weight of an iron bucket increases by 33.33 percent when it is filled with water to 50 percent of its capacity. What is the weight of iron used
in making of bucket if it can hold 36 kg water?

Options :

1. ¥ 54 kg.
2. % 90 kg.
3. % 45 kg.
4, % 48 kg.

Question Number : 91 Question Id : 92775914093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e DI U dlec] BT IO 33.33 UTARId 9¢ SITdT § OId SUH ST &1 BT 50 U= U1 HRT SITal g | STec] &9 H SUAIT fhu T4 o8 &1
ao a1 grm afe sa8 36 foban urt @1 o g 82

Options :

1. ¢ 54 {31,




2. % 90 fobu.
3. % 45 foou.
4. % 48 foour.

Question Number : 92 Question Id : 92775914094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the length, breadth and height of a cube are increased by 10 percent, 10 percent and 20 percent respectively, then by what percent its surface
area will increase?

Options :

1. # 17.66 percent
2. % 15.66 percent
3. % 24.33 percent
4, ¥ 28.33 percent

Question Number : 92 Question Id : 92775914094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fHdl o1 &1 THaTe, TIST SR GdTs | AR 10 Uf=Td, 10 UfIRId 3R 20 UfI=Rrd &1 g St STl &, @l 39P! de &b H fhdq
yfeerd &1 gf grfe

Options :

1. % 17.66 Ufd2rd

2. % 15.66 Ufa=rd

3. % 2433 gfa=rd

4. ¥ 2833 Ufard

Question Number : 93 Question Id : 92775914095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of males and females in a city is 7:8 and the percentage of children among males and females is 25 percent and 20 percent, respectively.
If the number of adult females in the city is 156800, then what is the total population?

Options :



1. # 245000
2. ¥ 367500
3. # 196000
4. % 171500

Question Number : 93 Question Id : 92775914095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS e T T30 3R HFAT3T BT U 7: 8 § 3R YV 3R ARl st bl Ufa=ra HH: 25 Ufa=ra 3R 20 Ufawrd 1 afe wer o aues
Afgamal & WA 156800 7, Al Ho SHEREAT fbd-T g2

Options :

1. #* 245000

2. ¥ 367500

3. % 196000

4. % 171500

Question Number : 94 Question Id : 92775914096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling an article for Rs. 4539 a shopkeeper incurs 11 percent loss after giving a discount of 10 percent. What should be the marked price if he
wants to earn 20 percent profit after giving a discount of 20 percent?

Options :

1. * Rs. 8400
2. ¥ Rs. 7650
3. * Rs. 6200
4. % Rs. 7820

Question Number : 94 Question Id : 92775914096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 TT=Td &1 e & 1Y U a¥g Bl 4539 IUT H 99+ IR U gHMGR &1 11 IR 1 BT Bl 8| TG 98 20 U= 1 BT o & 916 20
gferRId @Y Sifofd w31 aTedl 5, df ST 3iford Hed 1 g1 ATeE?




Options :

1. % 8400 =04
2. ¥ 7650 TTY
3. % 6200 ®0Y
4. % 7820 &Y

Question Number : 95 Question Id : 92775914097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man purchased 120 kg of sugar and was forced to sell it at a loss equal to the selling price of 30 kg of sugar. If he purchased each kilogram of
sugar for Rs. 15, then at what price did he sell each kilogram of sugar?

Options :

1. ¥ Rs. 12
2. % Rs. 15
3. % Rs. 20
4, % Rs. 10

Question Number : 95 Question Id : 92775914097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3MTeHt = 120 frarum A+ @RI 8IR ST 30 faum St &1 faw! Jeg & sR1eR o R 39 99 faan | afe 3w i 15 swa ufa
forename TR, O I8 Ufd fraum =i frd gog R ot

Options :

1. ¥ 2®
2. % 15% Y
3. % 209y
4. % 0¥

Question Number : 96 Question Id : 92775914098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person is selling sugar at a profit of 10 percent but he is using a weighing machine that shows 950 g instead of 1 Kg. What isthe actual



percentage profit?
Options :

1. % 5 percent

2. ¥ 4.5 percent
3. # 3.6 percent
4. ® 2 percent

Question Number : 96 Question Id : 92775914098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fad 10 UFIRId & oH IR A1 99 8T § Afp1 a8 Teh VY did {2 &1 SUANT R 8T @ Sl 1 fHarimd & §oid 950 I19 ST g |
IR Ufa=Td oty 1 82

Options :

1. % 5gfa=d
2. ¢ 4.5 faRrd
3. % 3.6 Ufderd
4. % 2 gfard

Question Number : 97 Question Id : 92775914099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mixture contains sugar, salt and pepper in the ratio of 4 : 3 : 5. Find the quantity of salt to be added to 60 g of this mixture to form a new
mixture in which the ratio of the above ingredients in the same orderis 4 : 4 : 5.

Options :
1.¥5¢g
2.% 12¢g
3.%10¢g
4. % 8¢

Question Number : 97 Question Id : 92775914099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UHh HRTER T 4: 3: 5 & U & AT, THD 3R BIeh 79 g 1 60 T & 59 HRTER $I 75 fHaeR 99 o forg 39¢ fiyars S arelt 9@
D O Td DIfTT FoRTE ITRYed It &1 30T = 4 : 4 ¢ 5 Bl ST

Options :

1. 599

2. % 129UMH

3. % 107H

4. % 3YMH

Question Number : 98 Question Id : 92775914100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mean proportional of two numbers is 12 more than the first number and 36 less than the second number. Find the sum of all three numbers.
Options :

1. #* 60

2. % 84

3.% 92

4.9 78

Question Number : 98 Question Id : 92775914100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1 SISl T HEATIUTC Ug el §oT ¥ 12 3ifie SR GHL WO 36 HH | H i domadl &1 g 1 e
Options :

1. ® 60

2. % 84

3. % 92

4.9 78

Question Number : 99 Question Id : 92775914101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A and B start a business with investments of Rs. 54,000 and Rs. 81,000 respectively. After 6 months A invests Rs. P more in the business. If at



the end of the year the profit was distributed equally, then what is the value of P?
Options :

1. ¥ Rs. 1,36,000

2. % Rs. 92,000

3. ¥ Rs. 1,08,000

4. % Rs. 1,20,000

Question Number : 99 Question Id : 92775914101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B HHIT: 54,000 T 3R 81,000 Y & I & 1Y Ueh AT & B & | 6 HelH & 9IG A GG | p &Y o1 3ffafed
fyawr wxar g1 A 9 & Sid & a1y T = U ¥ faafvd forar mar, @ p w1 A a1 /2

Options :

1. % 1,36,000 0
2. % 92,000 9T
3. ¢ 1,08,000 &0
4. % 120,000 =04

Question Number : 100 Question Id : 92775914102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In two alloys of gold and silver, the ratios of gold to silver are 4 : 5 and 5 : 6 respectively. If both alloys are mixed in equal quantity, then what
will be the ratio of gold to silver in the new mixture?

Options :

1. ¥ 89:109
2. % 175:543
3.%3:5

4. % 10:18

Question Number : 100 Question Id : 92775914102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T SR Tl & < foryr el &, T 3R TiE & SUTd HHR: 4: 5 3R 5: 6 &1 A ST ey et & = [ & foremen Srar 8, a1
frsror & A MR Tt T SUTd T I

Options :
1. ¥ 89:109
2. % 175:543
3.%3:5
4. % 10:18
Arithmetic Ability2
Group Number : 6
Group Id : 927759548
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 927759584
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 927759723



Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 92775914103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 2175 is lent at a certain rate of interest for 8 months and a sum of Rs. 725 is lent but at thrice the former rate for 4 months. A total
Rs. 282.75 is earned as interest from both the loans. At what interest rate (per year) was the amount of Rs. 2175 given?

Options :

1. ¥ 13 percent
2. % 10 percent
3. % 12.5 percent
4. % 15 percent

Question Number : 101 Question Id : 92775914103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2175 =0T B A U AT TS X TR 8 AR o [o1E IYR & AN 8 3R 725 BT BI AR UGS o - A1 &X § 4 AGH & [ SUR &
ST 8 | G AU & & & =0 H 282.75 WU AT fhar A1 21 2175 03 Bt AR B fobg sa1et o2 ( Ul af ) W feam mam

Options :

1. ¢ 13 gfaed
2. % 10 gfa=rd
3. % 12.5 Ufa=d
4. % 15 gfaerd

Question Number : 102 Question Id : 92775914104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount deposited on compound interest becomes Rs. 4800 after two years and Rs. 6000 after three years. Find the amount that it will become
after four years.

Options :
1. % Rs. 8100
2. % Rs. 7500



3. # Rs. 9000
4. % Rs. 7200

Question Number : 102 Question Id : 92775914104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thgfg SIS UR STHT I T3 T TR 1 I8 P F1G 4800 T 3R A1 auf &b &8 6000 YA 1 S B 1 IR I8 a1E I8 A fawai1 gt sawte
Options :

1. % 8100 3T

2. ¥ 7500 TYY

3. % 9000 TYY

4. % 7200 30

Question Number : 103 Question Id : 92775914105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person borrowed Rs. 30000 at the rate of 7 percent per annum on compound interest for a certain time. If he paid Rs. 4347 as interest, then
what is the time (in years) for which he borrowed money?

Options :
1.¥2
2. % 572
3.%3
4. % 4

Question Number : 103 Question Id : 92775914105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Hfad A T Figd T079 & o Tshgfa &amet IR 7 Uia=id Ufd 98 &1 &R ¥ 30000 $UY IUR o | afe 39 19 & U H 4347 30T HT
WM foar, @ 98 9w @ #) o § fores forg 39 o9 Sy forg 2

Options :
1.¥2
2. % 5/2




3. %3
4. % 4

Question Number : 104 Question Id : 92775914106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C participated in a race. A covers the same distance in 49 steps, as B covers in 50 steps and C covers in 51 steps. In the same, A takes
10 steps, B takes 9 steps and C takes 8 steps. Who is the winner of the race?

Options :
1.¥ A
2. % B
3.% C

4. % Can't be determined

Question Number : 104 Question Id : 92775914106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C A TH TGI8 & YIT eI A 49 HaH! H THM g1 a9 Hal ¢ foTd-1 o B 3 50 HEHI & 3R C T/ 51 HeH A g o o | 341
dE A, 10 HSH, B, 9 HEH 3R C, 8 HEH a0 Hdl ¢ | TS & faoidl HiH g2

Options :

1.¥ A

2. % B

3.% C

4. % 1A g1 fod1 & Gbal

Question Number : 105 Question Id : 92775914107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In covering a distance of 60 km, Anuj takes 2 hours more than Bhai. If Anuj doubles his speed, then he would take 1 hour less than Bhai. What is
the speed of Anuj?

Options :
1. * 14 km/hr



2. ¥ 10 km/hr
3. # 7 km/hr
4. *= 8 km/hr

Question Number : 105 Question Id : 92775914107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

60 fpTi Bt g T HRA H, 3ol B HTS U 2 ©S 3% T 51 A Sl 7 (U= TIfd SR R &, Y S U1 ¥ 1 8¢ HH JHg T |
3Tl &1 T T §2

Options :

1. % 14 fHi/der

2. ¥ 10 fobHi/EeT

3. % 7 fopHi/ger

4. % g fopeii/der

Question Number : 106 Question Id : 92775914108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kush completes a journey in 10 hours. He travels half of the distance at the speed of 21 km/hr and remaining distance at the speed of 24 km/hr.
What is the total distance traveled by him?

Options :

1. % 220 km
2. % 224 km
3. % 230 km
4. % 234 km

Question Number : 106 Question Id : 92775914108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H A 10 9 T TH =1 G D1 | 78 21 Tt/ der o) 1 I el g8 a7 vl § 3R QW g 24 fpeft/ der o6t 1 @ a0 a1 1 SUP g
T P ITS Pl g b g2

Options :




1. % 220 fopuit
2. ¢ 224 fopdit
3. % 230 fhdl
4. % 234 et

Question Number : 107 Question Id : 92775914109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B can fill a tank in 20 minutes and 24 minutes respectively. Pipe C can empty the tank in 30 minutes. First A and B are opened
and after 7 minutes, C is opened. What will be the total time in which the tank will filled up to 70 percent ?

Options :

1. ¥ 13 min
2. % 8 min
3. % 7 min

4, % 15 min

Question Number : 107 Question Id : 92775914109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 UIRY A 3R B HH: 20 fie 3R 24 e H U T &) R Ihd g1 U8 C &b ! 30 fBie & Wrell % Iohdl g | U8d A 3R B Wid o
g 3R 7 e 91g ¢ &) JIa ST g | <t Bl 70 UTA=Id 4R B @ aTdll $df T8 fod =1 i 2

Options :

Question Number : 108 Question Id : 92775914110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
John can do a work in 55 days. Johny is 20 percent less efficient than John. Find the time to complete the work if they work together.
Options :



1. # 39 days
2. % 34 days
3. % 30 days
4. % 26 days

Question Number : 108 Question Id : 92775914110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST U &1 55 a1 T T &R bl g | S B a1 J i1 20 TA=d HH G ¢ | e o T 1 HTH B ¢ al HH I HA A
GUEEIRIRERRIGEAIELY
Options :

1. % 39f&T
2. % 34feq
3.+ 30 fed
4. % 26faT

Question Number : 109 Question Id : 92775914111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain contract work can be completed by 24 men in 72 days working 8 hours per day. They worked for 24 days and then some more men
joined them and all of them working at the rate of 6 hours per day and completed the remaining work in another 48 days. How many more men
joined?

Options :
1.¥8
2. % 12
3. % 32
4. % 16

Question Number : 109 Question Id : 92775914111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ffa Srgafid 1 24 goul gR1 72 feAl 7 8 69 Ufd faq o b Q1 o1 o WahdlT § 1 3614 24 &1 0 1 foham ok iR 36 8k




TR b 1Y =M gU 3R Tt A Ul &7 6 b Y &= A 1 o 3R A9 18 &1 317 48 oAl & @ fovann | fopae) ofR oy 2nfiet g2
Options :

1.v8

2. % 12

3.% 32

4.% 16

Question Number : 110 Question Id : 92775914112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tank is filled with water and has a leak which can empty it in 9 hours. A tap is turned on which admits 10 liters water in a minute into the tank
and now it takes 12 hours to empty. How much water the tank can hold?

Options :

1. # 7860 liters
2. % 7200 liters
3. % 86400 liters
4. ¥ 21600 liters

Question Number : 110 Question Id : 92775914112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ¢ U O HRT § SR ST U Rra § ot 39 9 U T aTelt $HR Gohdl § | U -1d ! 9Tl (0T oiTdl & foR ¢ & Uab e & 10 diex
Ut HRaT § 3R 3fd 3 WMelt 81 § 12 °¢ &vd 8| ¢ H fohamm urHt 31 off goball 82

Options :

1. % 7860 dflex

2. % 7200 oflex

3. % 86400 dllex

4. ¥ 21600 TR

Question Number : 111 Question Id : 92775914113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a circular ground of diameter 175 m, a rectangular football court of breadth 105 m is constructed and vertices of the court lie on the
circumference of the ground. How much area is the left after the construction of football court?

Options :

1. # 7448.5sq. m
2. % 12264.5sq. m
3.9 9362.5sq. m
4. % 6684.5sq. m

Question Number : 111 Question Id : 92775914113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

175 Hiex T & U MeDR HaM H, 105 Hex AISTs &1 U AIBR Beald dic -l 11 § R BIE & Y Agq & uikfy iR fRia
g1 Pedlid pIc o MU0 & S1G fha-T 8t d Y ST 62

Options :

1. % 74485 W
2. % 12264.5 9 Ht
3. 9362.5 97 HI
4. % 6684.5 T W

Question Number : 112 Question Id : 92775914114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the area of a rhombus (in sq cm) whose one side is 39 cm and a diagonal is 72 cm?
Options :

1. % 1080

2. % 672

3. % 1296

4, % 864

Question Number : 112 Question Id : 92775914114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH JOYS IS BT &7 (@ 9T &) 18R ot T YT 39 T 3R Tep faauf 72 It g2
Options :
1.+ 1080
2. % 672
3. % 1296
4. % 864

Question Number : 113 Question Id : 92775914115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of a hemisphere is 5 cm. The radius of base of a cone is equal to the radius of the hemisphere and height is 10 cm. What is the ratio of
volume of hemisphere to volume of the cone?

Options :
1. % 2:1
2.% 1:2
3.% 3:4
4.9 1:1

Question Number : 113 Question Id : 92775914115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T eI &1 B30T 5 T 8 1 U P o SR DT s fefial & Hoan & sR1eR g 3R Sdrs 10 A 81 31efid & 31maa 3fR X &
3T BT ST T 82

Options :

1. %21

2.%1:2
3.% 3:4
4.91:1

Question Number : 114 Question Id : 92775914116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A magician wants to hide his magical rod inside a cubical box whose total surface area is 4050 sq. cm. What can be the maximum length of rod?
Options :

1. % 50 cm

2. % 45 cm

3. % 30 cm

4. % 28 cm

Question Number : 114 Question Id : 92775914116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SR T S1gs S Bl U G- d1e & e [SUHT I1gdl & [T 1 Tdg &% d 4050 T I 81 To! B ATUHTH Adlg
faet g1 ol &7

Options :

1. % 50 9!
2. ¢ 45 At
3. % 30 9
4, % 28 AT

Question Number : 115 Question Id : 92775914117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and table carefully to answer the questions given below.

Distribution of students studying different discipline in a University



.lﬂl.l"t, 10% MEdiCil‘lE.
8%

Managem
ent, 16%

Commerc
e, 33%
Engineeri
ng, 15%

cience,
18%

Total No. of students = 8000

Ratio of Male and Female
Male | Female
Arts 2 3
Medicine 1 1
Management 9 7
Engineering 7 5
Science 4 5
Commerce 3 5

Number of female students studying managment is what percent of the total number of students in the University?
Options :

1. % 27

2. % 12

3.%9

4.v 7



Question Number : 115 Question Id : 92775914117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fau U vt &1 IR & & forg FRafefad urs-ard siR aiferes! &1 emyde Sierd SifoTg |
uo fayfaerea # faftrd fawal &1 siegge o3 a1d 331 & faavur



Fa, 10% Fafde, 2%

T, 16%

33%

15%

T, 18%
D Sl DI G = 8000

T&Y AR gigd @1 3
U&y | Afgar

2l 2 3

e 1 1

PGEE| 9 7
gofifaRar | 7 5
IGRIG] 4 5

qifors 3 5

TSEH I P aTell Aiga S ot e, fayfasnea & SEf &t o 9= $T fasa1 ufi=d 62
Options :
1. % 27



2.% 12
3.9
4.9 7

Question Number : 116 Question Id : 92775914118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and table carefully to answer the questions given below.

Distribution of students studying different discipline in a University



A.I"t, 10% MEdiCinE,

8% Managem

ent, 16%

Commerc
e, 33%
Engineeri
ng, 15%

cience,
18%

Total No. of students = 8000

Ratio of Male and Female
Male | Female
Arts 2 3
Medicine 1 1
Management 9 7
Engineering 7 5
Science 4 5
Commerce 3 5

What is the total number of female students studying in Engineering and Medicine?
Options :

1. % 1280

2. % 5000

3.9 820

4, % 430



Question Number : 116 Question Id : 92775914118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fau U vt &1 IR & & forg FRafefad urs-ard siR aiferes! &1 emyde Sierd SifoTg |
uo fayfaerea # faftrd fawal &1 siegge o3 a1d 331 & faavur



fafe, ax

‘el 10%

T, 16%

33%

15%

T, 18%
D Sl DI G = 8000

=Y R Afgell ST Surd
gy | Afga
@l 2 3

e 1 1

PEEE] 9 7
SO | 7 5
fasm 4 5

qifors 3 5

SN SR fforea SR Afge B & $o S& 1 57
Options :
1. ¥ 1280



2. % 5000
3. % 820
4. = 480

Question Number : 117 Question Id : 92775914119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and table carefully to answer the questions given below.

Distribution of students studying different discipline in a University



A.I"t, 10% MEdiCinE,

8% Managem

ent, 16%

Commerc
e, 33%
Engineeri
ng, 15%

cience,
18%

Total No. of students = 8000

Ratio of Male and Female
Male | Female
Arts 2 3
Medicine 1 1
Management 9 7
Engineering 7 5
Science 4 5
Commerce 3 5

What is the total number of students studying commerce?
Options :
1. % 1280
2. % 1440
3. % 1650
4. ¥ 2640



Question Number : 117 Question Id : 92775914119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1280



2. % 1440
3. # 1650
4. ¥ 2640

Question Number : 118 Question Id : 92775914120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following pie-chart and table carefully to answer the questions given below.

Distribution of students studying different discipline in a University



A.I"t, 10% MEdiCinE,

8% Managem

ent, 16%

Commerc
e, 33%
Engineeri
ng, 15%

cience,
18%

Total No. of students = 8000

Ratio of Male and Female
Male | Female
Arts 2 3
Medicine 1 1
Management 9 7
Engineering 7 5
Science 4 5
Commerce 3 5

What is the difference between the number of students studying Arts and Science?
Options :
1. # 480
2. ¥ 640
3. % 800
4. % 320



Question Number : 118 Question Id : 92775914120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T fau U vt &1 IR & & forg FRafefad urs-ard siR aiferes! &1 emyde Sierd SifoTg |
uo fayfaerea # faftrd fawal &1 siegge o3 a1d 331 & faavur
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Options :
1. % 480



2. ¥ 640
3. % 800
4. % 320

Question Number : 119 Question Id : 92775914121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the preferences of children in buying different ice creams flavors over the years in a colony.

400
350 325
300
250
200
150
100
0
o

L
8:

275

2001 2002 2003 2004 2005 2006
Years

m Chocolate m Vanilla

Children buying chocolate flavor ice cream in year 2002 and 2003 together are approximately what percent more or less than children buying
vanilla flavor ice-cream in 2005 and 2006 together?

Options :

1. #® 5 percent
2. ¥ 8 percent
3. #¥ 12 percent
4. ® 15 percent

Question Number : 119 Question Id : 92775914121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 5 gfa=rd
2. ¢ 8 Ufard
3. % 12 yfaerd
4. % 15 gfawrd

Question Number : 120 Question Id : 92775914122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graph shows the preferences of children in buying different ice creams flavors over the years in a colony.
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What is the respective ratio between the children who bought chocolate flavor ice cream in 2004 and the children who bought both flavor ice
cream together in 20017

Options :

1. ® 40:37

2. % 356:385
3.9 156: 385
4. % 40:39

Question Number : 120 Question Id : 92775914122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 40:37
2. % 356:385
3. ¥ 156: 385
4. % 40:39
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Group Number : 7
Group Id : 927759549
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Group Marks : 20
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Number of Questions : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759724
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 92775914123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

In 2018, Ramjee was presented with the Outstanding Female Scientist Award in Lisbon for her lifetime commitment for find new HIV prevention
methods.

Options :

1. % In 2018, Ramjee was presented with

2. # the Outstanding Female Scientist Award in Lisbon for her lifetime
3. ¥ commitment for find new HIV prevention methods.

4. % No Error

Question Number : 121 Question Id : 92775914123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



In 2018, Ramjee was presented with the Outstanding Female Scientist Award in Lisbon for her lifetime commitment for find new HIV prevention
methods.

Options :

1. #® In 2018, Ramjee was presented with

2. # the Outstanding Female Scientist Award in Lisbon for her lifetime
3. % commitment for find new HIV prevention methods.

4. % No Error

Question Number : 122 Question Id : 92775914124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Professional colleges in India are likely to face a tough year ahead with disruptions in its campus recruitments as the covid-19 pandemic affects
businesses worldwide.

Options :

1. ® Professional colleges in India are likely to face a

2. ¥ tough year ahead with disruptions in its campus recruitments
3. # as the covid-19 pandemic affects businesses worldwide.

4. ® No Error

Question Number : 122 Question Id : 92775914124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Professional colleges in India are likely to face a tough year ahead with disruptions in its campus recruitments as the covid-19 pandemic affects
businesses worldwide.

Options :
1. # Professional colleges in India are likely to face a
2. ¥ tough year ahead with disruptions in its campus recruitments

3. # as the covid-19 pandemic affects businesses worldwide.



4. % No Error

Question Number : 123 Question Id : 92775914125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It would cause a tremendous disruption with our work schedule to install a different computer system.
Options :

1. # It would cause a tremendous disruption

2. % with our work schedule to install

3. # adifferent computer system.

4. % No Error

Question Number : 123 Question Id : 92775914125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

It would cause a tremendous disruption with our work schedule to install a different computer system.
Options :

1. # It would cause a tremendous disruption

2. % with our work schedule to install

3. % a different computer system.

4. % No Error

Question Number : 124 Question Id : 92775914126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



The newly elected chief minister will take the oath of office on Tuesday when the Governor will return to the state capital.
Options :

1. #® The newly elected chief minister

2. % will take the oath of office

3. ¥ on Tuesday when the Governor will return to the state capital.

4. % No Error

Question Number : 124 Question Id : 92775914126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The newly elected chief minister will take the oath of office on Tuesday when the Governor will return to the state capital.
Options :

1. # The newly elected chief minister

2. % will take the oath of office

3. ¥ on Tuesday when the Governor will return to the state capital.

4. # No Error

Question Number : 125 Question Id : 92775914127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Some are employed with processing fish, such as canning and freezing, while others are manning and servicing the trawlers.
Options :

1. ¥ Some are employed with processing fish,

2. % gsuch as canning and freezing, while others

3. # are manning and servicing the trawlers.

4. % No Error



Question Number : 125 Question Id : 92775914127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Some are employed with processing fish, such as canning and freezing, while others are manning and servicing the trawlers.
Options :

1. ¥ Some are employed with processing fish,

2. % such as canning and freezing, while others

3. * are manning and servicing the trawlers.

4. % No Error

Question Number : 126 Question Id : 92775914128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In wealthy areas, the total income available to be taxed are much high than in poor areas.
Options :

1. ¥ is much higher than

2. % is more higher then

3. ® are much high then

4. ¥ No improvement

Question Number : 126 Question Id : 92775914128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In wealthy areas, the total income available to be taxed are much high than in poor areas.



Options :

1. ¥ is much higher than
2. % is more higher then
3. # are much high then

4. ¥ No improvement

Question Number : 127 Question Id : 92775914129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

People prone to severe allergic reactions needing to carry a adrenaline injector pen that can help reverse the symptoms quickly.
Options :

1. #* needed to carrying a

2. % need to carry an

3. * needs to carry an

4. % No improvement

Question Number : 127 Question Id : 92775914129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

People prone to severe allergic reactions needing to carry a adrenaline injector pen that can help reverse the symptoms quickly.
Options :

1. # needed to carrying a
2. ¥ need to carry an
3. % needs to carry an

4. ¥ No improvement

Question Number : 128 Question Id : 92775914130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The author have select and arranged the music compositions in order of complexity and structural content.’
Options :

1. # have selected and arranged
2. # has select and arrange
3. % has selected and arranged

4. ¥ No improvement

Question Number : 128 Question Id : 92775914130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The author have select and arranged the music compositions in order of complexity and structural content.’

Options :

1. # have selected and arranged
2. % has select and arrange

3. % has selected and arranged

4. % No improvement

Question Number : 129 Question Id : 92775914131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The importance of things can be measured by the amount of time we're willing to give them.
Options :

1. # can be measure by



2. # could be measure by
3. % can be measuring by

4. ¥ No improvement

Question Number : 129 Question Id : 92775914131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The importance of things can be measured by the amount of time we're willing to give them.

Options :

1. # can be measure by
2. # could be measure by
3. # can be measuring by

4. ¥ No improvement

Question Number : 130 Question Id : 92775914132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

In the cell, the food is broke down into carbon dioxide and water using oxygen.
Options :

1. # break down

2. ¥ is broken down

3. % is breaking down

4. ¥ No substitution required

Question Number : 130 Question Id : 92775914132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

In the cell, the food is broke down into carbon dioxide and water using oxygen.
Options :

1. # break down

2. % is broken down

3. # is breaking down

4. % No substitution required

Question Number : 131 Question Id : 92775914133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

They now await their results in August and September hope and expectation.
Options :

1. ¥ in

2. % on

3. % at

4. % by

Question Number : 131 Question Id : 92775914133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

They now await their results in August and September hope and expectation.
Options :

1. ¥ in

2. % on

3. % at

4. % by



Question Number : 132 Question Id : 92775914134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I see city women doing the same work as | and it makes me realise we are just the same.
Options :

1. ® did

2. ¥ do

3. # does

4. % done

Question Number : 132 Question Id : 92775914134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I see city women doing the same work as | and it makes me realise we are just the same.
Options :

1. * did

2. % do

3. * does

4. % done

Question Number : 133 Question Id : 92775914135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We are closer to realizing Dr. King's dream, but still have much to go.
Options :

1. # far



2. * further
3. ¥ farther
4. * farthest

Question Number : 133 Question Id : 92775914135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We are closer to realizing Dr. King's dream, but still have much to go.
Options :

1. # far

2. # further

3. % farther

4. % farthest

Question Number : 134 Question Id : 92775914136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

When out and about, most people tend to behave sensibly enough not to put at huge risk.
Options :

1. % oneself

2. % itself

3. # himself

4. ¥ themselves

Question Number : 134 Question Id : 92775914136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



When out and about, most people tend to behave sensibly enough not to put at huge risk.
Options :

1. % oneself

2. % itself

3. # himself

4. ¥ themselves

Question Number : 135 Question Id : 92775914137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The property had been empty last July but a couple of weeks ago his daughter moved in.
Options :

1. ¥ since

2. % about

3. # across

4. % over

Question Number : 135 Question Id : 92775914137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The property had been empty last July but a couple of weeks ago his daughter moved in.
Options :

1. ¥ since

2. % about

3. * across

4. % over

Question Number : 136 Question Id : 92775914138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. since the beginning of the 21st century,

B. infectious diseases caused by bacteria and viruses

C. we have seen the emergence and outbreaks of multiple
D. that jump from animals to humans

Options :

1. ¥ ABDC
2. ¥ ACBD
3. % ABCD
4. % ADBC

Question Number : 136 Question Id : 92775914138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. since the beginning of the 21st century,

B. infectious diseases caused by bacteria and viruses

C. we have seen the emergence and outbreaks of multiple
D. that jump from animals to humans

Options :

1. ¥ ABDC
2. % ACBD
3. % ABCD
4. % ADBC

Question Number : 137 Question Id : 92775914139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. moratorium on repayment of long duration loans
B. lowered the repo rate by 0.75% to 4.4%, supplementing it by measures



C. to enhance the flow of cheap credit along with a three month
D. Reserve Bank of India’s monetary policy committee on Friday

Options :

1. # DABC
2. # DCBA
3. ¥ DBCA
4. ¥ DCAB

Question Number : 137 Question Id : 92775914139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A. moratorium on repayment of long duration loans

B. lowered the repo rate by 0.75% to 4.4%, supplementing it by measures
C. to enhance the flow of cheap credit along with a three month

D. Reserve Bank of India’s monetary policy committee on Friday

Options :

1. # DABC
2. # DCBA
3. ¥ DBCA
4. ¥ DCAB

Question Number : 138 Question Id : 92775914140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. while the US seeks to name and shame Beijing on its origin.

B. China is aggressively touting its success in containing the coronavirus.

C. Now, even as they fight a common threat, the ‘war’ has shifted to the realm of propaganda.
D. The US and China had just about declared truce in their trade war.

Options :

1. # DCAB



2. #* DABC
3. ¥ DBAC
4. ¥ DCBA

Question Number : 138 Question Id : 92775914140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. while the US seeks to name and shame Beijing on its origin.

B. China is aggressively touting its success in containing the coronavirus.

C. Now, even as they fight a common threat, the ‘war’ has shifted to the realm of propaganda.
D. The US and China had just about declared truce in their trade war.

Options :

1. % DCAB
2. % DABC
3. ¥ DBAC
4. ¥ DCBA

Question Number : 139 Question Id : 92775914141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. The Great Indian Middle Class is a peculiar animal.

B. At one level, it has remarkable qualities of entrepreneurship, resourcefulness, resilience, inventiveness and ingenuity.

C. At another level, it can be unforgivably insular, indifferent to the trauma of those economically and socially below it.

D. How else can one explain the reaction of some members of this class to health workers who are in the front trenches fighting against the
coronavirus menace?

Options :

1. ¥ ABCD
2. % ACDB
3. % ADBC
4. % ABDC



Question Number : 139 Question Id : 92775914141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A. The Great Indian Middle Class is a peculiar animal.

B. At one level, it has remarkable qualities of entrepreneurship, resourcefulness, resilience, inventiveness and ingenuity.

C. At another level, it can be unforgivably insular, indifferent to the trauma of those economically and socially below it.

D. How else can one explain the reaction of some members of this class to health workers who are in the front trenches fighting against the
coronavirus menace?

Options :

1. ¥ ABCD
2. % ACDB
3. % ADBC
4. % ABDC

Question Number : 140 Question Id : 92775914142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Siesta

Options :

1. # Retirement

2. % An afternoon nap
3. # A lounge

4. % A blanket

Question Number : 140 Question Id : 92775914142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.



Siesta

Options :

1. ® Retirement

2. % An afternoon nap
3. * A lounge

4. % A blanket
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Question Number : 141 Question Id : 92775914143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Mitigate
Options :

1. # Aggravate
2. # Negotiate
3. ¥ Diminish
4. # Provoke

Question Number : 141 Question Id : 92775914143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Mitigate
Options :

1. % Aggravate
2. % Negotiate
3. ¥ Diminish
4. % Provoke

Question Number : 142 Question Id : 92775914144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Embark
Options :

1. % Commence



2. # Inaugurate
3. # Confound
4. ¥ Adjourn

Question Number : 142 Question Id : 92775914144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Embark
Options :

1. ¥ Commence
2. % Inaugurate
3. % Confound
4. ¥ Adjourn

Question Number : 143 Question Id : 92775914145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Dismantle
Options :

1. ¥ Assemble
2. % Destroy
3. # Flatten
4. * Bulldoze

Question Number : 143 Question Id : 92775914145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.



Dismantle
Options :

1. ¥ Assemble
2. % Destroy
3. # Flatten
4. * Bulldoze

Question Number : 144 Question Id : 92775914146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. * Pronounce

2. % Fortheright

3. % Simplicity

4. % Ventilate

Question Number : 144 Question Id : 92775914146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Pronounce

2. ¥ Fortheright

3. % Simplicity

4. ¥ Ventilate

Question Number : 145 Question Id : 92775914147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :



1. # Categorical
2. % Secretive
3. % Inauguraete

4. # Diplomatic

Question Number : 145 Question Id : 92775914147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Categorical

2. # Secretive

3. % Inauguracte

4. # Diplomatic

Question Number : 146 Question Id : 92775914148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Spellbound

2. % Histrionics

3. # Sepulchral

4. ¥ Dipsomaniace

Question Number : 146 Question Id : 92775914148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Spellbound

2. % Histrionics



3. % Sepulchral

4. ¥ Dipsomaniace

Question Number : 147 Question Id : 92775914149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Practiceable

2. # Insular

3. # Fecundity

4. % Ceremonious

Question Number : 147 Question Id : 92775914149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Practiceable

2. # Insular

3. # Fecundity

4. % Ceremonious

Question Number : 148 Question Id : 92775914150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

The plot was a little flimsy, but I'd give the amazing visuals in the film a ten out of ten.

Options :
1. ¥ An achievement

2. ¥ A perfect score



3. # A delayed success
4. % A favor

Question Number : 148 Question Id : 92775914150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

The plot was a little flimsy, but I'd give the amazing visuals in the film a ten out of ten.

Options :

1. # An achievement
2. % A perfect score

3. # A delayed success
4. % A favor

Question Number : 149 Question Id : 92775914151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I really need to clean out my closet-it's starting to look like a dog's dinner in there.
Options :

1. # Limited

2. % Fashionable

3. ¥ Disorganized

4. % Ruined

Question Number : 149 Question Id : 92775914151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I really need to clean out my closet-it's starting to look like a dog's dinner in there.



Options :

1. # Limited

2. # Fashionable
3. ¢ Disorganized
4. # Ruined

Question Number : 150 Question Id : 92775914152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A bee in (one's) bonnet
Options :

1. % A desire or need

2. # An expensive holiday
3. % A perplexing situation
4. ¥ An obsession

Question Number : 150 Question Id : 92775914152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A bee in (one's) bonnet
Options :

1. % A desire or need

2. % An expensive holiday
3. # A perplexing situation
4. ¥ An obsession

Question Number : 151 Question Id : 92775914153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

All roads lead to Rome

Options :

1. ¥ Different routes to the same goal
2. % A common understanding

3. # The same community

4. ® A unique solution to a problem

Question Number : 151 Question Id : 92775914153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

All roads lead to Rome

Options :

1. ¢ Different routes to the same goal
2. # A common understanding

3. # The same community

4. % A unique solution to a problem

Question Number : 152 Question Id : 92775914154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Hard but liable to break easily.
Options :

1. ® Flimsy

2. ¥ Brittle

3. ® Neurotic

4. ® Strident



Question Number : 152 Question Id : 92775914154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Hard but liable to break easily.
Options :

1. # Flimsy

2. ¥ Brittle

3. % Neurotic

4. # Strident

Question Number : 153 Question Id : 92775914155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A descendant or the descendants of a person, animal, or plant; offspring.
Options :

1. # Species

2. % Adolescent

3. ¥ Progeny

4. % Toddler

Question Number : 153 Question Id : 92775914155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A descendant or the descendants of a person, animal, or plant; offspring.
Options :

1. # Species

2. % Adolescent



3. ¥ Progeny
4. % Toddler

Question Number : 154 Question Id : 92775914156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A political leader who seeks support by appealing to the desires and prejudices of ordinary people.
Options :

1. # Revolutionary

2. % Agitator

3. % Rebel

4. ¥ Demagogue

Question Number : 154 Question Id : 92775914156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A political leader who seeks support by appealing to the desires and prejudices of ordinary people.
Options :

1. ¥ Revolutionary

2. ® Agitator

3. % Rebel

4. ¥ Demagogue

Question Number : 155 Question Id : 92775914157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The branch of medicine concerned with conditions affecting the nose.



Options :

1. ¥ Rhinology

2. # Neurology

3. % Histophysiology
4. ® Kremlinology

Question Number : 155 Question Id : 92775914157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The branch of medicine concerned with conditions affecting the nose.
Options :

1. ¥ Rhinology

2. # Neurology

3. % Histophysiology

4. # Kremlinology

Sub-Section Number : 2
Sub-Section Id : 927759726
Question Shuffling Allowed : Yes

Question Id : 92775914158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

“It is the camp law: people going to their death must be deceived to the very end.”, said—Tadeusz Borowski. The Auschwitz concentration camp
was a complex of over 40 concentration and extermination camps operated by Nazi Germany in occupied Poland during World War II and the
Holocaust. It consisted of Auschwitz I, the main camp in O$wigcim; Auschwitz [I-Birkenau, a concentration and extermination camp built with
several gas chambers; Auschwitz [II-Monowitz, a labor camp created to staff a factory for the chemical conglomerate 1G Farben; and dozens of
subcamps.

After Germany sparked World War II by invading Poland in September 1939, the Schutzstaffel (SS) converted Auschwitz I, an army barracks,
into a prisoner-of-war camp for Polish political prisoners. The first gassings of Soviet and Polish prisoners took place in block 11 of Auschwitz |
around August 1941. The first inmates, German criminals brought to the camp in May 1940 as functionaries, established the camp's reputation



for sadism, beating, torturing, and executing prisoners for the most trivial reasons.

Construction of Auschwitz II began the following month, and from 1942 until late 1944 freight trains delivered Jews from all over German-
occupied Europe to its gas chambers. Of the 1.3 million people sent to Auschwitz, 1.1 million died. The death toll includes 960,000 Jews
(865,000 of whom were gassed on arrival), 74,000 non-Jewish Poles, 21,000 Roma, 15,000 Soviet prisoners of war, and up to 15,000 other
Europeans. The ideology of National Socialism (Nazism) brought together elements of "racial hygiene", eugenics, and antisemitism, (Richard J.
Evans wrote), and combined them with pan-Germanism and territorial expansionism. As the Soviet Red Army approached Auschwitz in January
1945, toward the end of the war, the SS sent most of the camp's population west on a death march to camps inside Germany and Austria.

Sub questions

Question Number : 156 Question Id : 92775914159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Schutzstaffel (SS) converted Auschwitz I (an army barracks) into a prisoner-of-war camp for—
Options :

1. # Dozens of subcamps

2. % Polish political prisoners

3. # Final Solution to the Jewish Question

4. % Medical experiments

Question Number : 157 Question Id : 92775914160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first gassings of Soviet and Polish prisoners took place in—
Options :

1. ¥ Auschwitz I

2. # Schutzstaffel

3. % Oswiecim

4. % 1G Farben

Question Number : 158 Question Id : 92775914161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Germany sparked World War 2 by invading—



Options :

1. % Hungary
2. # Austria
3. % Poland
4. # Ttaly

Question Number : 159 Question Id : 92775914162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the SS (Schutzstaffel) send most of the camp's population when the Soviet Red Army approached Auschwitz?
Options :

1. ¥ Austria

2. % Bulgaria

3. # Hungary

4. ® Poland

Question Number : 160 Question Id : 92775914163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Soviet prisoners of war died in those camps?
Options :

1. % 21,000

2. % 1.3 million

3. ¥ 74,000

4. % 15,000

Question Id : 92775914158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the passage carefully and select the best answer to each question out of the given four alternatives.

“It is the camp law: people going to their death must be deceived to the very end.”, said—Tadeusz Borowski. The Auschwitz concentration camp
was a complex of over 40 concentration and extermination camps operated by Nazi Germany in occupied Poland during World War II and the



Holocaust. It consisted of Auschwitz I, the main camp in Oswiecim; Auschwitz II-Birkenau, a concentration and extermination camp built with
several gas chambers; Auschwitz III-Monowitz, a labor camp created to staff a factory for the chemical conglomerate IG Farben; and dozens of
subcamps.

After Germany sparked World War II by invading Poland in September 1939, the Schutzstaffel (SS) converted Auschwitz I, an army barracks,
into a prisoner-of-war camp for Polish political prisoners. The first gassings of Soviet and Polish prisoners took place in block 11 of Auschwitz I
around August 1941. The first inmates, German criminals brought to the camp in May 1940 as functionaries, established the camp's reputation
for sadism, beating, torturing, and executing prisoners for the most trivial reasons.

Construction of Auschwitz II began the following month, and from 1942 until late 1944 freight trains delivered Jews from all over German-
occupied Europe to its gas chambers. Of the 1.3 million people sent to Auschwitz, 1.1 million died. The death toll includes 960,000 Jews
(865,000 of whom were gassed on arrival), 74,000 non-Jewish Poles, 21,000 Roma, 15,000 Soviet prisoners of war, and up to 15,000 other
Europeans. The ideology of National Socialism (Nazism) brought together elements of "racial hygiene", eugenics, and antisemitism, (Richard J.
Evans wrote), and combined them with pan-Germanism and territorial expansionism. As the Soviet Red Army approached Auschwitz in January
1945, toward the end of the war, the SS sent most of the camp's population west on a death march to camps inside Germany and Austria.

Sub questions

Question Number : 156 Question Id : 92775914159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Schutzstaffel (SS) converted Auschwitz I (an army barracks) into a prisoner-of-war camp for—
Options :

1. # Dozens of subcamps

2. % Polish political prisoners

3. # Final Solution to the Jewish Question

4. ¥ Medical experiments

Question Number : 157 Question Id : 92775914160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first gassings of Soviet and Polish prisoners took place in—
Options :

1. ¥ Auschwitz I

2. % Schutzstaffel

3. % Os$wiecim

4. % 1G Farben



Question Number : 158 Question Id : 92775914161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Germany sparked World War 2 by invading—
Options :

1. ¥ Hungary

2. % Austria

3. ¥ Poland

4. ® Ttaly

Question Number : 159 Question Id : 92775914162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the SS (Schutzstaffel) send most of the camp's population when the Soviet Red Army approached Auschwitz?
Options :

1. ¥ Austria

2. % Bulgaria

3. # Hungary

4. % Poland

Question Number : 160 Question Id : 92775914163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many Soviet prisoners of war died in those camps?
Options :

1. % 21,000

2. % 1.3 million

3. % 74,000

4. % 15,000
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Question Number : 161 Question Id : 92775914164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 7 weg e & uged SuR &1 w0 Bifve-
Options :

1. %

2. %



3. ¢ g
4, % 39

Question Number : 161 Question Id : 92775914164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frffEd ® 7 2reg s § Ugead Iuw Bl 99 HIIL-
Options :

1. % e

2. % 4

3.¢ 99

4. % 3HH

Question Number : 162 Question Id : 92775914165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfoRad # ¥ TH e &1 994 BIfoL-
Options :

1. ¥ B

2. % HICT

3. % dhgl

4. % HRIA

Question Number : 162 Question Id : 92775914165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR ¥ ¥ dH Yeg &1 994 BHIToTe-
Options :

1. &

2. % HYIcH

3. % hhgl




4. % DRI

Question Number : 163 Question Id : 92775914166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEffad # @ A1 - S H HH-91 9H9 82
Options :

1. % HHYRY THNY

2. % g aumy

3. % JUHTd JHY

4. ¥ Gg 9y

Question Number : 163 Question Id : 92775914166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafea & @ 9 - & & ST 999 82
Options :

1. % HHYRY FHY

2. % fg U™

3. % 3{HUIHTd JHY

4. ¥ GG 9HN

Question Number : 164 Question Id : 92775914167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrAfRea ® 8 T, ¥ 901 |1 Heard 82
Options :

1. ¥ ©3& - dlad

2. % gy

3. % 3oy

4. % TR



Question Number : 164 Question Id : 92775914167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRaa ¥ 8 T, U 90 R Head o2
Options :

1. ¥ &6 - dadA

2. % e

3. % 35y

4. % IRy

Question Number : 165 Question Id : 92775914168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfaRad # § femeR &1 T5t i fowse i g2
Options :

1. % &+ 3R

2. ¢ G + 3R

3. % & + 3R

4. % faT+ 3R

Question Number : 165 Question Id : 92775914168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=faied o 9 femeR &1 9g! Wi fasse | g?
Options :

1. % N+ 3TaR

2. ¢ fdp + 3R

3. % P + 3R

4. % 3 + 3R



Question Number : 166 Question Id : 92775914169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfRed & § »srpwra &1 gataar Wee $H-91 82
Options :

1. % Yydl

2. % 3

3. ¢ el

4. % T

Question Number : 166 Question Id : 92775914169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 " sfewTa 1 yafaard Jeg HIH-91 572
Options :

1. % Yydl

2. % 3

3. ¢ Jedl

4. % {4

Question Number : 167 Question Id : 92775914170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o ¥ fau 7 2ree-g & T 31d-1g &1 T8 Hifore-

Options :

1. % QErd - 3retfard
2. % fayg - o

3. ¥ Y - hlq

4. % fRId - Hie



Question Number : 167 Question Id : 92775914170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferfad & O fau 7T Wreg-gm o 98 o2 &1 99 Hifore-

Options :

1. % qérd - 3retfard
2. % fayyg - o

3. ¥ Y - hIq

4. % RSt - HTe

Question Number : 168 Question Id : 92775914171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAmfeRad & ¥ " 3o o1 fadiH e &1 T8 HIToTE-
Options :

1. % Heblo

2. % fagps

3. % Rye

4. JIRTI

Question Number : 168 Question Id : 92775914171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRaa o 9 siam &1 faad <reg &1 9a- Pifod-
Options :

1. % HeplaH

2. % fagps
3. % Ryee



4.« IR

Question Number : 169 Question Id : 92775914172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o ¥ 3 a1 a1 Xeq BT 99 HIToTE-
Options :

1. % 3Py

2. % 3o

3. ¢ fRRugs iy

4. % 3HNTHA

Question Number : 169 Question Id : 92775914172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrffEd & @ g adil a1l g BT a9 PIfore-
Options :

1. ® e

2. % IAYA

3. ¥ feRugsiRy

4. % A

Question Number : 170 Question Id : 92775914173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoiRed | ¥ fSU 7T a19g & T Ue e &1 99+ Difole-
AR A G & forg His angdt

Options :
1. ¥ U1y

2. % gfd



3. % FHoal
4. % Q.

Question Number : 170 Question Id : 92775914173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 ¥ fau U a1 o AT Ueh g &1 99 difoTd-
AR H G & fore Hisa angut

Options :
1. ¥ g
2. % giq
3. % Soldl
4. % Al

Question Number : 171 Question Id : 92775914174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefefed & O &1H-91 Weg "R 1 yaigard T 82
Options :

1. % 3T

2. % 3T

3. % Q70T

4.« {43

Question Number : 171 Question Id : 92775914174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffed & 9 SH-91 Wea 3R &1 uafadrd 781 82
Options :

1. % 3T



2. % 3T
3. % gETo

4.« {43

Question Number : 172 Question Id : 92775914175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEffed O T 2eg & Y U o1 I DIfOTT-
Options :

1. % 3rAHd

2. ¢ TS

3. % SRS

4. % IRl

Question Number : 172 Question Id : 92775914175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeRad 4 9 Xreg & g U BT 9T PHIforT-
Options :

1. % 3rATHd

2. ¢ ST

3. % (S

4. % ORI

Question Number : 173 Question Id : 92775914176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferfaa o T = fau 7T gty & fore Iuge 2Meg &1 98 DIfod-
S T URERT ¥ ]! ST 381 8l

Options :




1. ¢ fdhag=it
2. % fhmdddye
3. % fhoda
4. % PUHGH

Question Number : 173 Question Id : 92775914176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferfed o T =i fau 7T gty & fore Suged 2Meg &1 90 ifo-
S T URERT O hgl-gr! ST g1 8l

Options :

1. ¢ fdhacil

2. % fhHdAayg
3. % fhdaa

4. % FUHEH

Question Number : 174 Question Id : 92775914177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRad o ¥ 3RS ad arel Ueg &I T BHITor-
Options :

1. % ggorg

2. % AfErey

3. ¥ HAHAY
4. % faegd

Question Number : 174 Question Id : 92775914177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad © ¥ 31R[G acii! a1l X[6G BT TI BHIToTE-




Options :

1. % ggog
2. % df¥reey
3. ¢ PYUIH AU
4. % fauyd

Question Number : 175 Question Id : 92775914178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfefed o T =t fau 7T are & fore Suged 2Meg &1 =8 ifod-
foraest 3ifa T ot 81

Options :

1. % HhI&E
2. TGN
3. % T

4. % Hieq

Question Number : 175 Question Id : 92775914178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAefeRed O 9 e fu U a1 & ol Suged Weg &1 99 HIfTU-
forgept aff o ot &1

Options :

1. ® HhI&
2. ¢ PG
3. % il

4. % HER

Question Number : 176 Question Id : 92775914179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f=fRed o @ Swjad fdewed &1 99 HIfoTe-
OTd 9T 1 fobaT & i, g 3R I2W, Hdl & foifT, g9 3R U¥N & IR &l I 98 FHeard gl

Options :

1. ¢ HgardA
2. % HHA
3. % YIgared
4, % JpHA

Question Number : 176 Question Id : 92775914179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRed # @ Swad fddwed &1 9g HifoTe-
o a1 &1 foram & fof, a1 SiR Yo, Fal & foffT, aa 3R T3W & 3R g, al a8 FHEAr |

Options :

1. ¥ Hqgard
2. % HHAT
3. % Ygary
4. % 3fGHHATH

Question Number : 177 Question Id : 92775914180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEAfIREd & & $H-91 a1 quiydeTd 3 Hefid 751 57
Options :

1. % Y Sff A HTHR 3T T

2.« TG W AR 6 87 T

3. % o & o 9 Ugd gl IR YN b I

4. % 3NAYDHI A 2012 H TR WRIaT AT




Question Number : 177 Question Id : 92775914180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeed & § oI=-91 aTers quisfciepTe & Haiferd T8l 82
Options :

1. % Y St A HETHRA a1 7|

2. ¢ FATG! T FR<R d¢ 38T 4TI

3. % i & oM 9 Ugd 81 IR YN g I

4. % JYBIRIA 2012 H OR WAQT T

Question Number : 178 Question Id : 92775914181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfefad 7 9 fawrariesio o &1 9u= Hifo-
Options :

1. % SIR B, TR AH<] a1 o |

2. % T 3 HAT @ SR

3. % g e fd gA ST 3

4. 3! fHa v T B

Question Number : 178 Question Id : 92775914181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao | O fowmanfeaius ared o1 999 Sifole-
Options :

1. % TR B, TR A1 a1 ol |

2. % 1 31T Al S8 SR

3. % W A Ufa ge ST g |

4. ¢ 38! fod vaFs T B



Question Number : 179 Question Id : 92775914182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefRad 7 9 fau 7o aren # f5g SR &1 uanT far mar g2
Mg 4 Hegral Y & I

Options :

1. ® B RS
2. % Hdl BRD
3. ¢ U HRD
4. % IIYT RSB

Question Number : 179 Question Id : 92775914182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 fau 7o gt & 5 R &1 yanT fhar T 82
"M 7 peeTs! § &l BT

Options :

1. ® HH HRB
2. % Hdl HRD
3. ¢ IR HRD
4. % JGIYT HRB

Question Number : 180 Question Id : 92775914183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & I H-9T <sa wWfelT g2
Options :

1. #® dlq

2. % fayrd

3. % {d



4. ¥ Gl

Question Number : 180 Question Id : 92775914183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 SH-9T <eg wfel 5?2
Options :
1. % dlq
2. % fdyrar
3. % 4d
4.« dl
General Hindi2
Group Number : 10
Group Id : 927759552
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 927759588
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16



Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759728
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775914184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T § HH-01 aTog it 2P s /7
Options :

1. % TR BT & TE Hid g

2. ¢ IMYRY R G I HIa=T & dorea Hal ]

3. % TS T & AHRIS et 3R Sredary &1 Udid 6 |
4. % HBUT Y DT R YT M 5|

Question Number : 181 Question Id : 92775914184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & QD F-I1 IR AR 2B F [ 87

Options :

1. # g Sfddhd & UqE B 7

2. ¢ YMYRY R G I HIa=T & dorea al g |

3. % T[T A B ARG I 3R Aedary 1 udie g
4. % HOU Y BT R HIF M g

Question Number : 182 Question Id : 92775914185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o @ ®1H9-971 ¥sg 9gaa- 82

Options :




1. % dPhal
2. % YTq
3. % T
4. % @

Question Number : 182 Question Id : 92775914185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFefeRad & 9 H-91 Wea g 8?2
Options :

1. % dPhol

2. % YId

3. %

4. AN

Question Number : 183 Question Id : 92775914186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfRed O T a1 & g U &1 90 DIfoT-
Options :

1. ® Y gHR U & § 3R 98 3

2. % YR U Ed § AR T8 R

3. ¢ Y AR URI XG4 § SR J R

4. % 98 BUR U X84 & 3R I8 X

Question Number : 183 Question Id : 92775914186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefeRad & 9 919 & g T BT TG BIfoTl-
Options :

1. % ¥ AR UNI I8d § 3R 98 g




2. % YZAR U T8 § 3R I8 &3
3. ¢ UGAR TN TEd § IR AR
4. % 95 THR URI T@d & AR I8 I

Question Number : 184 Question Id : 92775914187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT o ¥ HH-91 a1 GUGH HRS B 10! 57
Options :

1. % FYS & MU A T Iw@IE |

2. ¢ ASE, O H | B

3. ® AT & forw A9 @t

4. % g, Higd & [ ST g |

Question Number : 184 Question Id : 92775914187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfRed & 9 HH-91 a1 YUeH HRS &1 7161 87
Options :

1. % FYE & U I SR

2. ¢ HZll, U H Xgl B

3. % AT ¢ & forg I ardt

4. % I, A8 &I [P odT g |

Question Number : 185 Question Id : 92775914188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad © 9 foT U 9100 & UHR &1 99 Difole-
HIdTS & fort Y 3@HR T & A1 98 TR B

Options :




1. % Igod a1

2. % A AR

3. % 3fTATD I
4. Oy ar

Question Number : 185 Question Id : 92775914188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad © 9 ST U 9100 & UHR &1 9 Difole-
Ao & fort Y S@HR I & A1 98 TR B |

Options :

1. % ggad I

2. % A dIH

3. % AHRIMAlHP dIR
4. foy arw

Question Number : 186 Question Id : 92775914189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfafed W § Herd RevdrEe (FdHH) BT 99 Hifo-
Options :

1. % DS

2. % 3

3.%gH

4. % TR0

Question Number : 186 Question Id : 92775914189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frEfeRad § § 7 qEvards (Hd-TH) BT 98 HITL-




Options :
1. % Blg
2.9 3
3. % gH
4. % T

Question Number : 187 Question Id : 92775914190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fA=faRad O 9§ «Uraarer drd a1 &1 994 Pifole-
Options :

1. ® HUA JIP Ul g

2. % YRd A TP 791 SUUE Bl

3.« qgfeal # ufafe Tgrr et sl

4. % {HOFl gRIBUd I o TS 5|

Question Number : 187 Question Id : 92775914190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffafed & T «Yraarer ard a1 &1 99+ Hifore-
Options :

1. ® A [P Ugd g

2. % YRJ A TP 791 SUUE SIST|

3. ¢ Qi 4 wfafes g el S|

4. % fHUF gRT BUA HIC A TS B

Question Number : 188 Question Id : 92775914191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefoRed o @ gemarT "3 Sd I3 &1 1 3 g2

Options :



1. ® gRomy 3131 81 oMe, at 9 & 331 A foran S g1
2. v g & HAd g

3. % WUieR Wt Hier 9 8|

4, % g ATl

Question Number : 188 Question Id : 92775914191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=foRed # & gemarT "3 5d I3 &1 1 34 g2
Options :

1. % ORUMH 331 81 oTg, df 9t $ 331 UM ferar S g |
2. ¥ g & HiId g

3. % WUt o Aer 9 g

4. ® Waqst gl

Question Number : 189 Question Id : 92775914192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 9 fore HeTar 71 o1 »aieht Tad wmdf 31 df forddl guR W Sfyd ol g 82
Options :

1. ¢ 3O TS T, TR ST o

2. % 3O el § ol 1 BR|

3. % 3O e I, U g ST

4. % 3 o Uley ofg forg fe

Question Number : 189 Question Id : 92775914192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfefed & § g geiar o1 o amret Tad Tmef 8 oY frelt gar W 3nfya i e &2
Options :

1. 3T T U, ORI SR b |




2. % 3O el § gt oY BR|
3. % 3UAT g I, 3O Alg SR
4. % 3fad o Ul 95 fore e

Question Number : 190 Question Id : 92775914193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRaa & @ dreifad "g &1 Tifd ST &t 1fif &1 @ sl g2
Options :

1. % DT YRY B & 1 g1 g1 aMigu|

2. % PHied # SR TAiad S|

3. ¢ gF fad BT IH RR A1

4. % IrATH! W TP IR 81 B Hbad g

Question Number : 190 Question Id : 92775914193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfRad o § deifad "ge o1 Ui areg @t i &1 ol 82
Options :

1. % BTH YRH D & §1G YR Ta! 1oyl

2. % TEd B 3R gfiad S

3. ¢ ¥ e &1 0 RR AT B

4. % FTelH! W TP IR 81 B Hbad g

Question Number : 191 Question Id : 92775914194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRad o © fog Aaifaa &1 o ford freht & o1 G A1 81 i 82
Options :

1. % U ol Dl gol 19 ]|

2. % TR P IR TS|




3. % JMHAl g HIadl R dig|
4. ¢ S BT AT 7 A1 BT ST

Question Number : 191 Question Id : 92775914194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foiRad & @ feg Al &1 o o it a8 g 82
Options :

1. % U I Bl gof A9 Tl |

2. % IR P IW TS|

3. % Jfhal ¢ ®adl R Hig|

4. ¢ S BT A1 T HTEN BT AT

Question Number : 192 Question Id : 92775914195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefead 7 @ areifad ane St It o1 ura 3meh fire =1 I ura o1 3 31 g2
Options :

1. % 3(IYH BRI BISHR ATGRIDH BT B AT

2. ¢ 3Hf¥e ATl Afdd Bl e el B

3. % §gd Ug-dl gl

4. % TUY A IR USdH &1 dis a1H el ararl

Question Number : 192 Question Id : 92775914195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefad 7§ deifed veneh Bis arY & urd el fire =1 It urar o1 @ 3rf g2

Options :

1. % 3MARID DT BISHR HATID HII B A |
2. ¢ 3 el Afdd Dl $& ol Hadrl

3. % §gd Hgd gl




4. % gHY Apa- R TS &1 dls aH ol gidTl

Question Number : 193 Question Id : 92775914196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 = feu e argw & 59 fas o1 v fear man g2
RRIE AR Rt R A LR

Options :

1. ¢ fqavur fag

2. % ofT9d fog

3. % gOuq I

4. % 31y favH g

Question Number : 193 Question Id : 92775914196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

freferied & @ = fieu v gt & T foreg &1 v foean man g2
BRI BRI R A A

Options :

1. ¢ faeru forg

2. % q9d fag

3. % gquc g

4. % 37 favH g

Question Number : 194 Question Id : 92775914197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad o 9 i fqu 71T g &1 911 Id1ge-
(")




Options :

1. % O fag

2. % 9d fag

3. ¥ 3RV T IRV g
4. % gUS g

Question Number : 194 Question Id : 92775914197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefeiRad & 9 il fau 7t g &1 14 SIa1sa-

(H . H)
Options :

1. % gl o
2. % @rdq e
3. ¢ 3fAd’U AT IR0 Fg
4, % UG fag

Question Number : 195 Question Id : 92775914198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & I fow area & sraform™ famg &1y far T ge

Options :

1. % e, /I, T 3R T BT garsfi|
2. % MU TSt HTAH R 2

3. % Tt oft A pET UTl > SET IRA Y g «
4. ¥ TGHM 317U §; 98 MY I ST |

Question Number : 195 Question Id : 92775914198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=foRea o 9 forw area & srgfav™ faeg &1 vt fovar am g2

Options :

1. % QR T, M 3R I o) garrai
2. % 3TUP TSl BTAH R 2

3. % el St 3 pgl Tl > R RA g § «
4.« TEHM 37U §; 98 XNy I ST |

Sub-Section Number : 2
Sub-Section Id : 927759729
Question Shuffling Allowed : Yes

Question Id : 92775914199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

& 7T T T AHYdD ST B U4l &b IR SioTe-

RIS AT (3MEell) & FU H HRA 3R b b ste Teh S=RIPTI A1 3, Sl HRATY Il 1 UTfeb 1 b IR Uil F 3Fef7l el |
I AT IR | arafae fFriEr Y@ @asidh 1, S uifewd@ gRT Fufiid SR o YR HRHR T 3(eT ! g, ardl db Sl g, ol {5
GolTd Uid $iR Ut & USTe Uid &1 gd H fauiford Sl & | <femn 8 T fog, YR & ToRTd 3R ISR &1 Ui & e uid 9
ST HRAT &1 1947 T TS[FAT 3@ & YR TR AR P 718 TG §18 T3 YT, 11 Ui 3R YR &1 Th guR I fauTiord &t 5, fafda
EX] SATD] Y ADR o ARAM & AT SATHT A B Sl &, S Id HR I8 AT 3RT TR H, UIhwa™ & AART 19 ¥ G & gl
& AT IR Il g8 G181 gd dd ST g |

YR 3R UIfHT WHT R WAl & a16 F, Q1 =1 & aid B8 9uY 3R Jg 81 g © 3R I8 Oy &1 a9 Sfeq s # 4w 7
fefiey gRT fAU 71T stids! & SR T &1 Hof das 2,900 fHH (1,800 Teh) €178 2011 H fagwr =ifa 7 ford 7T /g & suR |, fay,
! YaY FARATD THI37 T ¥ T 5 | YR GRT TRTHIT 50 TR W& TR 150,000 <o JIRIT ATe] Sedl RITUT [53 S1 & HROT I H 4
Siaies &+t ST S Gehdl g | Qi1 IPT b oiid b1 [orra/Rie JHT U SRS AIRIAT U YA G | 1949 P HRA-UTfbEH g5 & 916
QYT AR fdarfad &7 o1 1949 TG %g&ﬁeluimlﬁﬁ“—mmw%,aﬁ? 1972 , URHTT TRIRd HRUR 3R uifeseam

TR HRAR DI TG S aTel X1 i aRdiad a0 3@ Hgl i g |

TIfHETH SR HRA & d19 SHTolle HRAR SR Mafd-arfeed™ & &3, Td HRAT o7 o Y 3R HRHR 1T 3fd 3 | GO R T &1
USiTe Uicita a1 1 sffdfes Ham, 4R SR gRI USRS FU F SaRiSia U dgard! | HRd d41: Rrdeie ik HRd
Fifrd HRHR & T Ui & UoTd Uid & o1 &1 391 8, 39 U ST GHT 68T STl § i Th a3 TR IR |-l UTd
Ui (REardeie) g, Safd gusl IR Ue fadried & g | = @ FriFor ¥an arfaart sifiidd HRUR 8k S 3R HIHR &
dTa Pt AT 511972 H R S0 & 918 SHHT ATHISH a1 T




RIS T HRIY TURTSY 3R AT TURTSY UTfh &1 o S HHHifdhd 3T S{ARRISIY TR TR HI-AA U &1 1947 H TR RAR
el A Y& o1 i favar ol

Sub questions

Question Number : 196 Question Id : 92775914200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Preffad & § B-a1 weg, “Fo &1 Tafaarh 8 &2
Options :

1. % Toid

2. ® SR

3. ¢ FRH

4. % R

Question Number : 197 Question Id : 92775914201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fferRad # @ Suer i o1 Ifed <fieie 1 T Bifve-

Options :

1. % YR SRITHY AT |

2. % YT S{RIPHY AT |

3. % YR YRRYd HRAR SR 19 Uiyd SRR 1 fauiferd & arelt Y@
4. ¥ HRd Td UTfb & o ot fauiiord sieRigha demu|

Question Number : 198 Question Id : 92775914202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & e H I8! faweu &1 794 PifoTe-

Options :

1. % YRA-UTfhIH Geg &b STe R ISR fdarfed &7 bl 1939 Fgerd Y F& A @1 J fauford favar

2. ¢ R TURTSY 3R SEATHD TURTSY UTfh & o e Hirifdhet 3T SRS TR UR HI-Adl U 6 |

3. % 3fISel &b TU H HRA R BN P siidl Teb SRIPI T 5, S HRCA HRAR T D1 U & 14 Widl I e Bl 5|




4. % iUy gR1 AT T 3] & AR HRd 3R UTfdbed GIHT &1 §d dalTs 1800 fHT (2900 Hieh) B

Question Number : 199 Question Id : 92775914203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR HRA MR U™ & dig ATHifdd YS(aath SaT BT HIHidb [ gRT faedT 77 412
Options :

1. % G 3fefl foram

2. ¥ FAER A1 A&

3. % 39 HrdcdeH

4. ¢ TR Tsfern

Question Number : 200 Question Id : 92775914204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS TR & TR , YR & TORTd 3R IS P UTfhdE & Rie Uid F SierT dxar g |
Options :

1. % IR H IRdfde (=07 3T (Tasi)

2.« Glau H g fog

3. % gd ¥ fAoH IPRam

4, % IR U Ry G

Question Id : 92775914199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

faQ TTU IR BT SYd S g R U B IR HfTE-

RIS T (S e & T H YR SR UIfBEIH P siid Teb SRS W1 5, St HRGId Isdl 1 T e & IR idl ¥ 31ei el 5|
T U1 IR H IRafae = 3@ (@asih 9, S urfewd™ gRT1 Fafid SRR & YR HRHR I (a7 B g, ardl db Sl g, ol fe
GoTTd Uid 3R U o GoTd Uid 1 gd H fauTiord sxet & | <féror & S fofg, HRd & ToRTd 3R ISR &1 Ui & Rie uid

T HRAT g | 1947 T TS @1 & SHTYR TR TR &1 15 U I8 T T, S I IR HRd BI T gur 3 fquiford &t g, fafia
e SATH! A AR Aot IR & fafid sare! J §1ahR ot &, 3 I R I8 T 3R IR H, Uiferd™ & HART 61U ¥ Has & glek




& AR IR Il g3 G140 gd a0 STl 5|

YR 3R UTd ST IR WGddl & a6 9, GHI G0 & §id s 99y 3R < 8l b ¢ 3R Ig 0% B! gad Sfed grei § 9 T g
Ty gRT U T stidel & AR A &1 Hd dals 2,900 fH (1,800 Hieh) §1 T8 2011 H fagwr ifd ¥ ford U g & SR W, fay,
! YaY FARATD THI37 § T T 5 | YR GRT TRTHT 50 TR W& TR 150,000 <o =TT AT Tedl RITUT [53 S1 & HROT AT H 34
3iaRer I il 411 S Hhd g | QI AP & a1 [orra/RiY HHAT Ueh SIaAPR ARG UTed AT 8 1 1949 & HRA-UTTb & gk & a1
R SR fJarfed &3 &Y 1949 Tgad P Jfarm a1 § faHfd fasan man g, 3R 1972 /, URdTg vr=nfid w=uiR 3R uifeeam
TR HRAR &1 AU FH= aTel! 31 & aRafdes HI=01 341 68l Al 6|

IR 3R HRA & &1 SHTelTG HRAR IR FeRd-afeewd & &7, Td URdR 0 98 3R AR 1Y 317d § | g8R1 W UTfbd = 1
USITel Uicita a1 1 sffafes Ham, 4R SR gRI SMASTRS FU F SaRiSia U dgard! | HrRd A1 RErdeie ik YR
i HHR & 1Y gifesed= & U Uid & o1 1 34T 8, 53 Uh DI YIH BBl S1dT § i Th R 3 TR OR {1 U
A (Rraraeic) 3, Safd guRl dit U faaried & g | Feson YT Fesor ¥ uifewart sifiied HER 8iR ST 3R HIHR &
a3 A1 811972 & R T6gid & 916 SHST JiHidb- faar |

RIS T HR TURTSY SR SEAIHe TURTST Ul & sild AT d T SRAIPI TR W AR U g1 1947 § TR IR
Sfqa = Uity o1 Haie= fasar

Sub questions

Question Number : 196 Question Id : 92775914200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefefed & 9§ oH-91 Wsg, “fsi &1 uafuarh 181 82
Options :

1. % UpId

2. % Y

3. ¢ fReH

4. % 4R

Question Number : 197 Question Id : 92775914201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoaa & @ Suded e &1 IR e @1 99F B
Options :

1. % YR RISy T |

2. % Ui SieRigH |



3. % YR TR AR 3R T4 URMRId SRR B faHTiig &= areft I@m|
4, ¥ YR T UIbEI & &g faHTRoT SiarTgTa diHm|

Question Number : 198 Question Id : 92775914202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TR & e H gt f[awhed &1 90 Hifort-

Options :

1. % YRA-UTfhH geg b STe R ISR fdarfed &7 ol 1939 Ggerd Y F& A @1 J fauiford faar

2. ¢ R TURTSY 3R SEATHD TURTSY UTfh & o o Hirifdhel X SRS TR UR H-Adl U 6 |

3. % 3fSell &b TU H HRA 3R BN P siidl Teb SRIPI T &, S HRCA HRAR T D1 U & 14 Fidl I e Bl 5|
4. % TiUY gRI AU T 3fichel & SR HRA MR TTford™ I &t Hot dalTs 1800 fBet (2000 Ha) B

Question Number : 199 Question Id : 92775914203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR HRA 3R U= o dTa SHifhd Y8 aath 3T BT Wb e gRT [T 11 412
Options :

1. ® HgHg 3fefl fore

2. % AER A1d A&

3. % 39 HrdcdeH

4. ¢ TR Tsferp

Question Number : 200 Question Id : 92775914204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS TR & TR , YR & TR 3R ISR P UTfhd o Riel Uid I SierT dar g |
Options :

1. % IR H qRdfdeh (=01 3aT (Tasiia)

2. ¢ & H 3 foig

3. % gd ¥ fAoH IPRam

4. % I H Ry A






